The following grades are awarded to Sri/Smt AMALA K BENNY at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: GM21BSDL001

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation - I	8	2.53	В	20.24	Р
Optional II SDE 3B07 COM Co-operation - II	8	3.13	В	25.04	Р
Total	16			45.28	
CGPA(Cumulative Grade Point	Average)		В	2.83	Р

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E: 0.00 - 0.49: D: 0.50-1.49: C: 1.50-2.49: B: 2.50-3.49: A: 3.50-4.00: X: Absent \\ \textbf{Grade Range for CGPA:-} C: 1.50-1.99: C+: 2.00-2.49: B: 2.50-2.99: B+: 3.00-3.49: A: 3.50-3.79: A+: 3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt AMALA K S at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: **GM21BSDL002** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers	l				
Optional I SDE 2B03 COM Co-operation - I	8	3.83	А	30.64	Р
Optional II SDE 3B07 COM Co-operation - II	8	3.16	В	25.28	Р
Total	16			55.92	
CGPA(Cumulative Grade Point	Average)		Α	3.50	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 **Pass Conditions**: Minimum D grade for a paper and minimum CGPA of **1.50 (C Grade)** 

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt ANITA MATHAI at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: GM21BSDL003

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result			
Additional Optional Papers								
Optional I SDE 2B03 COM Co-operation - I	8	2.10	С	16.80	Р			
Optional II SDE 3B07 COM Co-operation - II	8	1.53	С	12.24	Р			
Total	16			29.04				
CGPA(Cumulative Grade Point	Average)		С	1.82	Р			

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E:0.00-0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent \\ \textbf{Grade Range for CGPA:-} C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt ANJU RAJAN at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: **GM21BSDL004** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation - I	8	1.60	С	12.80	Р
Optional II SDE 3B07 COM Co-operation - II	8	1.50	С	12.00	Р
Total	16			24.80	
CGPA(Cumulative Grade Point	Average)		С	1.55	Р

**Grade Range for Paper**:-E:0.00 - 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+2.00-2.49:B:2.50-2.99:B+3.00-3.49:A:3.50-3.79:A+3.80-4.00 **Pass Conditions**: Minimum D grade for a paper and minimum CGPA of **1.50 (C Grade)** 

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt ANUPRIYA P V at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: GM21BSDL005

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation - I	8	1.63	С	13.04	Р
Optional II SDE 3B07 COM Co-operation - II	8	2.23	С	17.84	Р
Total	16			30.88	
CGPA(Cumulative Grade Point	Average)		С	1.93	Р

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E:0.00-0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent \\ \textbf{Grade Range for CGPA:-}C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt ANUSREE H. M at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: **GM21BSDL006** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation - I	8	3.07	В	24.56	Р
Optional II SDE 3B07 COM Co-operation - II	8	2.20	С	17.60	Р
Total	16			42.16	
CGPA(Cumulative Grade Point	Average)		В	2.64	Р

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E:0.00-0.49: \ D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent \\ \textbf{Grade Range for CGPA:-}C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt ARCHANA V R at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: GM21BSDL007

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation - I	8	2.10	С	16.80	Р
Optional II SDE 3B07 COM Co-operation - II	8	1.40	D	11.20	Р
Total	16			28.00	
CGPA(Cumulative Grade Point	Average)		С	1.75	Р

**Grade Range for Paper**:-E:0.00 - 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+2.00-2.49:B:2.50-2.99:B+3.00-3.49:A:3.50-3.79:A+3.80-4.00 **Pass Conditions**: Minimum D grade for a paper and minimum CGPA of **1.50 (C Grade)** 

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt **ASHITHA K M** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: GM21BSDL008

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers	l				
Optional I SDE 2B03 COM Co-operation - I	8	2.93	В	23.44	Р
Optional II SDE 3B07 COM Co-operation - II	8	3.07	В	24.56	Р
Total	16			48.00	
CGPA(Cumulative Grade Point	Average)		B+	3.00	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 **Pass Conditions**: Minimum D grade for a paper and minimum CGPA of **1.50 (C Grade)** 

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt ATHIRA V K at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: GM21BSDL009

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
		, , , , , , , , , , , , , , , , , , , ,	711101000		
Additional Optional Papers					
Optional I	8	2.50	В	20.00	Р
SDE 2B03 COM Co-operation - I		2.50	D	20.00	'
Optional II	8	1.73	(	13.84	Р
SDE 3B07 COM Co-operation - II	0	1.75	C	15.04	'
Total	16			33.84	
CGPA(Cumulative Grade Point	Average)		C+	2.12	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 **Pass Conditions**: Minimum D grade for a paper and minimum CGPA of **1.50 (C Grade)** 

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt CHRISTEENA N SCARIA at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: GM21BSDL010

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation - I	8	2.50	В	20.00	Р
Optional II SDE 3B07 COM Co-operation - II	8	1.86	С	14.88	Р
Total	16			34.88	
CGPA(Cumulative Grade Point	Average)		C+	2.18	Р

**Grade Range for Paper**:-E:0.00 - 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+2.00-2.49:B:2.50-2.99:B+3.00-3.49:A:3.50-3.79:A+3.80-4.00 **Pass Conditions**: Minimum D grade for a paper and minimum CGPA of **1.50 (C Grade)** 

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt JOSNA JOHNSON at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: GM21BSDL011

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation - I	8	1.77	С	14.16	Р
Optional II SDE 3B07 COM Co-operation - II	8	1.53	С	12.24	Р
Total	16			26.40	
CGPA(Cumulative Grade Point	Average)		С	1.65	Р

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E:0.00-0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent \\ \textbf{Grade Range for CGPA:-} C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt KAVYA.P. S at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: **GM21BSDL012** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers		I			
Optional I SDE 2B03 COM Co-operation - I	8	2.00	С	16.00	Р
Optional II SDE 3B07 COM Co-operation - II	8	1.86	С	14.88	Р
Total	16			30.88	
CGPA(Cumulative Grade Point	Average)		С	1.93	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 **Pass Conditions**: Minimum D grade for a paper and minimum CGPA of **1.50 (C Grade)** 

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt LIJINA SAJI at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: **GM21BSDL013** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation - I	8	1.97	С	15.76	Р
Optional II SDE 3B07 COM Co-operation - II	8	2.13	С	17.04	Р
Total	16			32.80	
CGPA(Cumulative Grade Point	Average)		C+	2.05	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt LINU JOSE at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: **GM21BSDL014** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation - I	8	Х	-	-	F
Optional II SDE 3B07 COM Co-operation - II	8	Х	-	-	F
Total	16			-	
CGPA(Cumulative Grade Point	Average)		-	-	F

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E:0.00-0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent \\ \textbf{Grade Range for CGPA:-}C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt LIYA JOSEPH at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: **GM21BSDL015** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers	<u> </u>				
Optional I SDE 2B03 COM Co-operation - I	8	2.20	С	17.60	Р
Optional II SDE 3B07 COM Co-operation - II	8	2.56	В	20.48	Р
Total	16			38.08	
CGPA(Cumulative Grade Point	Average)		C+	2.38	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 **Pass Conditions**: Minimum D grade for a paper and minimum CGPA of **1.50 (C Grade)** 

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt MANJU .M at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: **GM21BSDL016** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation - I	8	2.10	С	16.80	Р
Optional II SDE 3B07 COM Co-operation - II	8	2.13	С	17.04	Р
Total	16			33.84	
CGPA(Cumulative Grade Point	Average)		C+	2.12	Р

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E: 0.00 - 0.49: \ D: 0.50-1.49: C: 1.50-2.49: B: 2.50-3.49: A: 3.50-4.00: X: Absent \\ \textbf{Grade Range for CGPA:-} C: 1.50-1.99: C+: 2.00-2.49: B: 2.50-2.99: B+: 3.00-3.49: A: 3.50-3.79: A+: 3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt NIDHINA K H at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: GM21BSDL017

	Credit	Grade Point	Grade	Credit	Result
Course Code & Title		Awarded	Awarded	Point	
Additional Optional Papers		ı			
Optional I	8	1.80	C	14.40	Р
SDE 2B03 COM Co-operation - I		1.00		240	•
Optional II	8	2.20		17.60	Р
SDE 3B07 COM Co-operation - II	O	2.20		17.00	r
Total	16			32.00	
CGPA(Cumulative Grade Point	Average)		C+	2.00	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 **Pass Conditions**: Minimum D grade for a paper and minimum CGPA of **1.50 (C Grade)** 

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt UNNIMAYA.K.M at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: GM21BSDL020

Carrage Carlo Q Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Course Code & Title		Awarded	Awarueu	Polit	
Additional Optional Papers					
Optional I	8	2.67	В	21.36	Р
SDE 2B03 COM Co-operation - I		2.07		22.50	•
Optional II	8	2.76	В	22.08	P
SDE 3B07 COM Co-operation - II	8	2.70	В	22.08	F
Total	16			43.44	
CGPA(Cumulative Grade Point	Average)		В	2.72	Р

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E: 0.00 - 0.49: \ D: 0.50 - 1.49: C: 1.50 - 2.49: B: 2.50 - 3.49: A: 3.50 - 4.00: X: Absent} \\ \textbf{Grade Range for CGPA:-} C: 1.50 - 1.99: C + : 2.00 - 2.49: B: 2.50 - 2.99: B + : 3.00 - 3.49: A: 3.50 - 3.79: A + : 3.80 - 4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt AKSHAY MANI at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: GM21BSDL021

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation - I	8	2.33	С	18.64	Р
Optional II SDE 3B07 COM Co-operation - II	8	2.03	С	16.24	Р
Total	16			34.88	
CGPA(Cumulative Grade Point	Average)		C+	2.18	Р

 $\begin{array}{l} \textbf{Grade Range for Paper} : -E:0.00 - 0.49: \ D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent \\ \textbf{Grade Range for CGPA} : -C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt ANSAL BABY at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: **GM21BSDL023** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation - I	8	2.57	В	20.56	Р
Optional II SDE 3B07 COM Co-operation - II	8	1.87	С	14.96	Р
Total	16			35.52	
CGPA(Cumulative Grade Point	Average)		C+	2.22	Р

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E:0.00-0.49: \ D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent \\ \textbf{Grade Range for CGPA:-}C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt **ASWIN P B** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: **GM21BSDL024** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers		L			
Optional I SDE 2B03 COM Co-operation - I	8	3.10	В	24.80	Р
Optional II SDE 3B07 COM Co-operation - II	8	2.13	С	17.04	Р
Total	16			41.84	
CGPA(Cumulative Grade Point	Average)		В	2.62	Р

**Grade Range for Paper**:-E:0.00 - 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+2.00-2.49:B:2.50-2.99:B+3.00-3.49:A:3.50-3.79:A+3.80-4.00 **Pass Conditions**: Minimum D grade for a paper and minimum CGPA of **1.50 (C Grade)** 

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt JAISON T J at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: **GM21BSDL025** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result				
Additional Optional Papers									
Optional I SDE 2B03 COM Co-operation - I	8	1.80	С	14.40	Р				
Optional II SDE 3B07 COM Co-operation - II	8	1.57	С	12.56	Р				
Total	16			26.96					
CGPA(Cumulative Grade Point	Average)		С	1.69	Р				

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 **Pass Conditions**: Minimum D grade for a paper and minimum CGPA of **1.50 (C Grade)** 

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt LIBIN JOHN at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: GM21BSDL026

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation - I	8	1.90	С	15.20	Р
Optional II SDE 3B07 COM Co-operation - II	8	1.33	D	10.64	Р
Total	16			25.84	
CGPA(Cumulative Grade Point	Average)		С	1.62	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt SUSHAN. JACOB at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: GM21BSDL027

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation - I	8	1.57	С	12.56	Р
Optional II SDE 3B07 COM Co-operation - II	8	1.83	С	14.64	Р
Total	16			27.20	
CGPA(Cumulative Grade Point	Average)		С	1.70	Р

 $\begin{array}{l} \textbf{Grade Range for Paper}: -E:0.00-0.49: \ D:0.50-1.49: C:1.50-2.49: B:2.50-3.49: A:3.50-4.00: X: Absent \\ \textbf{Grade Range for CGPA}: -C:1.50-1.99: C+:2.00-2.49: B:2.50-2.99: B+:3.00-3.49: A:3.50-3.79: A+:3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

P= Passed F= Failed

The following grades are awarded to Sri/Smt BACIL SHAJI at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: **GM21BSDL029** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result	
Additional Optional Papers						
Optional I SDE 2B03 COM Co-operation - I	8	1.93	С	15.44	Р	
Optional II SDE 3B07 COM Co-operation - II	8	2.00	С	16.00	Р	
Total	16			31.44		
CGPA(Cumulative Grade Point	Average)		С	1.97	Р	

 $\begin{array}{l} \textbf{Grade Range for Paper}: -E:0.00-0.49: \ D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent \\ \textbf{Grade Range for CGPA}: -C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt SUJITH P K at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: GM21BSDL030

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result	
Additional Optional Papers						
Optional I SDE 2B03 COM Co-operation - I	8	1.77	С	14.16	Р	
Optional II SDE 3B07 COM Co-operation - II	8	1.93	С	15.44	Р	
Total	16			29.60		
CGPA(Cumulative Grade Point	Average)		С	1.85	Р	

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E: 0.00 - 0.49: \ D: 0.50-1.49: C: 1.50-2.49: B: 2.50-3.49: A: 3.50-4.00: X: Absent \\ \textbf{Grade Range for CGPA:-} C: 1.50-1.99: C+: 2.00-2.49: B: 2.50-2.99: B+: 3.00-3.49: A: 3.50-3.79: A+: 3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt **SACHIN T** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: GM18BSDL007

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result	
Additional Optional Papers						
Optional I SDE 2B03 COM Co-operation - I	8	2.03	С	16.24	Р	
Optional II SDE 3B07 COM Co-operation - II	8	1.33	D	10.64	Р	
Total	16			26.88		
CGPA(Cumulative Grade Point	Average)		С	1.68	Р	

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt HARITHA R at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: **GM14BSDL002** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation - I	8	Х	-	-	F
Optional II SDE 3B07 COM Co-operation - II	8	Х	-	-	F
Total	16			-	
CGPA(Cumulative Grade Point	Average)		-	-	F

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E: 0.00 - 0.49: \ D: 0.50-1.49: C: 1.50-2.49: B: 2.50-3.49: A: 3.50-4.00: X: Absent \\ \textbf{Grade Range for CGPA:-} C: 1.50-1.99: C+: 2.00-2.49: B: 2.50-2.99: B+: 3.00-3.49: A: 3.50-3.79: A+: 3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt KRILESH K at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: **GK21BSDL001** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result		
Additional Optional Papers							
Optional I SDE 2B03 COM Co-operation - I	8	2.03	С	16.24	Р		
Optional II SDE 3B07 COM Co-operation - II	8	2.67	В	21.36	Р		
Total	16			37.60			
CGPA(Cumulative Grade Point	Average)		C+	2.35	Р		

 $\begin{array}{l} \textbf{Grade Range for Paper}: -E:0.00-0.49: \ D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent \\ \textbf{Grade Range for CGPA}: -C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt ANILA K at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: NA21BSDL001

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result	
Additional Optional Papers						
Optional I SDE 2B03 COM Co-operation - I	8	1.53	С	12.24	Р	
Optional II SDE 3B07 COM Co-operation - II	8	1.60	С	12.80	Р	
Total	16			25.04		
CGPA(Cumulative Grade Point A	Average)		С	1.57	Р	

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E:0.00-0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent \\ \textbf{Grade Range for CGPA:-}C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt RESHMA T V at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: NA21BSDL002

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result	
Additional Optional Papers						
Optional I SDE 2B03 COM Co-operation - I	8	1.73	С	13.84	Р	
Optional II SDE 3B07 COM Co-operation - II	8	2.20	С	17.60	Р	
Total	16			31.44		
CGPA(Cumulative Grade Point	Average)		С	1.97	Р	

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt SHARANYA P at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: NA21BSDL003

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result		
Additional Optional Papers							
Optional I SDE 2B03 COM Co-operation - I	8	2.50	В	20.00	Р		
Optional II SDE 3B07 COM Co-operation - II	8	2.57	В	20.56	Р		
Total	16			40.56			
CGPA(Cumulative Grade Point	Average)		В	2.54	Р		

 $\begin{array}{l} \textbf{Grade Range for Paper} : -E: 0.00 - 0.49: \ D: 0.50-1.49: C: 1.50-2.49: B: 2.50-3.49: A: 3.50-4.00: X: Absent \\ \textbf{Grade Range for CGPA} : -C: 1.50-1.99: C+: 2.00-2.49: B: 2.50-2.99: B+: 3.00-3.49: A: 3.50-3.79: A+: 3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

P= Passed F= Failed

The following grades are awarded to Sri/Smt **SHOBIKA VENUGOPAL** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: NA21BSDL004

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result	
Additional Optional Papers						
Optional I SDE 2B03 COM Co-operation - I	8	2.40	С	19.20	Р	
Optional II SDE 3B07 COM Co-operation - II	8	3.03	В	24.24	Р	
Total	16			43.44		
CGPA(Cumulative Grade Point	Average)		В	2.72	Р	

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E:0.00-0.49: \ D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent \\ \textbf{Grade Range for CGPA:-}C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt SIJINA T at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: NA21BSDL005

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result	
Additional Optional Papers						
Optional I SDE 2B03 COM Co-operation - I	8	2.00	С	16.00	Р	
Optional II SDE 3B07 COM Co-operation - II	8	1.77	С	14.16	Р	
Total	16			30.16		
CGPA(Cumulative Grade Point	Average)		С	1.89	Р	

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt **SRUTHI M** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: **NA21BSDL006** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result	
Additional Optional Papers						
Optional I SDE 2B03 COM Co-operation - I	8	1.80	С	14.40	Р	
Optional II SDE 3B07 COM Co-operation - II	8	2.50	В	20.00	Р	
Total	16			34.40		
CGPA(Cumulative Grade Point	Average)		C+	2.15	Р	

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E:0.00-0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent \\ \textbf{Grade Range for CGPA:-}C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt JOBIN P C at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: MG19BSDL007

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result	
Additional Optional Papers						
Optional I SDE 2B03 COM Co-operation - I	8	1.33	D	10.64	Р	
Optional II SDE 3B07 COM Co-operation - II	8	0.37	E	2.96	F	
Total	16			13.60		
CGPA(Cumulative Grade Point	Average)		-	0.85	F	

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt SANEESH K K at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: MG17BSDL007

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation - I	8	0.87	D	6.96	Р
Optional II SDE 3B07 COM Co-operation - II	8	0.77	D	6.16	Р
Total	16			13.12	
CGPA(Cumulative Grade Point	Average)		-	0.82	F

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt ABHIRAMI K at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: MG21BSDL001

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation - I	8	2.57	В	20.56	Р
Optional II SDE 3B07 COM Co-operation - II	8	3.77	А	30.16	Р
Total	16			50.72	
CGPA(Cumulative Grade Point	Average)		B+	3.17	Р

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E:0.00-0.49: \ D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent \\ \textbf{Grade Range for CGPA:-}C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt ADITHYA P A at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: MG21BSDL002

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation - I	8	1.60	С	12.80	Р
Optional II SDE 3B07 COM Co-operation - II	8	2.50	В	20.00	Р
Total	16			32.80	
CGPA(Cumulative Grade Point	Average)		C+	2.05	Р

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E:0.00-0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent \\ \textbf{Grade Range for CGPA:-}C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt AMBILI. K at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: MG21BSDL004

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result			
Additional Optional Papers								
Optional I SDE 2B03 COM Co-operation - I	8	2.07	С	16.56	Р			
Optional II SDE 3B07 COM Co-operation - II	8	1.33	D	10.64	Р			
Total	16			27.20				
CGPA(Cumulative Grade Point	Average)		C+	1.70	Р			

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E: 0.00 - 0.49: \ D: 0.50-1.49: C: 1.50-2.49: B: 2.50-3.49: A: 3.50-4.00: X: Absent \\ \textbf{Grade Range for CGPA:-} C: 1.50-1.99: C+: 2.00-2.49: B: 2.50-2.99: B+: 3.00-3.49: A: 3.50-3.79: A+: 3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt AMRUTHA SAJEEVAN at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: MG21BSDL005

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation - I	8	1.50	С	12.00	Р
Optional II SDE 3B07 COM Co-operation - II	8	0.97	D	7.76	Р
Total	16			19.76	
CGPA(Cumulative Grade Point A	Average)		1	1.24	F

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt ANAGHA A at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: MG21BSDL006

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation - I	8	2.03	С	16.24	Р
Optional II SDE 3B07 COM Co-operation - II	8	1.60	С	12.80	Р
Total	16			29.04	
CGPA(Cumulative Grade Point	Average)		С	1.82	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt ANAGHA K.L at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: MG21BSDL007

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation - I	8	1.00	D	8.00	Р
Optional II SDE 3B07 COM Co-operation - II	8	0.27	E	2.16	F
Total	16			10.16	
CGPA(Cumulative Grade Point	Average)		-	0.64	F

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt ANIT RAJEEV at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: MG21BSDL008

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation - I	8	2.70	В	21.60	Р
Optional II SDE 3B07 COM Co-operation - II	8	2.20	С	17.60	Р
Total	16			39.20	
CGPA(Cumulative Grade Point	Average)		C+	2.45	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt ANJALY JOSHY at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: MG21BSDL009

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation - I	8	1.87	С	14.96	Р
Optional II SDE 3B07 COM Co-operation - II	8	2.00	С	16.00	Р
Total	16			30.96	
CGPA(Cumulative Grade Point	Average)		С	1.94	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt ANJALI A S at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: MG21BSDL010

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation - I	8	Х	-	-	F
Optional II SDE 3B07 COM Co-operation - II	8	1.90	С	15.20	Р
Total	16			15.20	
CGPA(Cumulative Grade Point	Average)		-	0.95	F

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt ANJANA K at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: MG21BSDL011

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation - I	8	2.40	С	19.20	Р
Optional II SDE 3B07 COM Co-operation - II	8	2.50	В	20.00	Р
Total	16			39.20	
CGPA(Cumulative Grade Point	Average)		C+	2.45	Р

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E:0.00-0.49: \ D:0.50-1.49: C:1.50-2.49: B:2.50-3.49: A:3.50-4.00: X: Absent \\ \textbf{Grade Range for CGPA:-} C:1.50-1.99: C+:2.00-2.49: B:2.50-2.99: B+:3.00-3.49: A:3.50-3.79: A+:3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt ANJANA RAVINDRAN at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: MG21BSDL012

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation - I	8	2.40	С	19.20	Р
Optional II SDE 3B07 COM Co-operation - II	8	2.13	С	17.04	Р
Total	16			36.24	
CGPA(Cumulative Grade Point	Average)	•	C+	2.27	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt ARYA RAJEEV at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: MG21BSDL013

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation - I	8	1.50	С	12.00	Р
Optional II SDE 3B07 COM Co-operation - II	8	1.00	D	8.00	Р
Total	16			20.00	
CGPA(Cumulative Grade Point	Average)		-	1.25	F

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E:0.00-0.49: \ D:0.50-1.49: C:1.50-2.49: B:2.50-3.49: A:3.50-4.00: X: Absent \\ \textbf{Grade Range for CGPA:-} C:1.50-1.99: C+:2.00-2.49: B:2.50-2.99: B+:3.00-3.49: A:3.50-3.79: A+:3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt **ASWATHI T S** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: MG21BSDL014

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers	Optional I         8         1.80         C         14.40         F           SDE 2B03 COM Co-operation - I         8         1.80         C         14.40         F				
Optional I SDE 2B03 COM Co-operation - I	8	1.80	С	14.40	Р
Optional II SDE 3B07 COM Co-operation - II	8	1.53	С	12.24	Р
Total	16			26.64	
CGPA(Cumulative Grade Point	Average)		С	1.67	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 **Pass Conditions**: Minimum D grade for a paper and minimum CGPA of **1.50 (C Grade)** 

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt **ASWATHI V** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: MG21BSDL015

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers	Optional I SDE 2B03 COM Co-operation - I         8         1.67         C         13.36         P				
•	8	1.67	С	13.36	Р
Optional II SDE 3B07 COM Co-operation - II	8	1.33	D	10.64	Р
Total	16			24.00	
CGPA(Cumulative Grade Point	Average)		С	1.50	Р

**Grade Range for Paper**:-E:0.00 - 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+2.00-2.49:B:2.50-2.99:B+3.00-3.49:A:3.50-3.79:A+3.80-4.00 **Pass Conditions**: Minimum D grade for a paper and minimum CGPA of **1.50 (C Grade)** 

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt ATHULYA CHANDRAN at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: MG21BSDL016

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers	al I				
Optional I SDE 2B03 COM Co-operation - I	8	1.60	С	12.80	Р
Optional II SDE 3B07 COM Co-operation - II	8	0.93	D	7.44	Р
Total	16			20.24	
CGPA(Cumulative Grade Point	Average)		-	1.27	F

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E:0.00-0.49: \ D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent \\ \textbf{Grade Range for CGPA:-} C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt **GEETHU S** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: MG21BSDL017

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers	1				
Optional I SDE 2B03 COM Co-operation - I	8	х	-	-	F
Optional II SDE 3B07 COM Co-operation - II	8	2.27	С	18.16	Р
Total	16			18.16	
CGPA(Cumulative Grade Point	Average)		-	1.14	F

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E: 0.00-0.49: \ D: 0.50-1.49: C: 1.50-2.49: B: 2.50-3.49: A: 3.50-4.00: X: Absent \\ \textbf{Grade Range for CGPA:-} C: 1.50-1.99: C+: 2.00-2.49: B: 2.50-2.99: B+: 3.00-3.49: A: 3.50-3.79: A+: 3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt GOPIKA C H at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: MG21BSDL018

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation - I	8	1.53	С	12.24	Р
Optional II SDE 3B07 COM Co-operation - II	8	1.50	С	12.00	Р
Total	16			24.24	
CGPA(Cumulative Grade Point	Average)		С	1.52	Р

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E: 0.00 - 0.49: \ D: 0.50 - 1.49: C: 1.50 - 2.49: B: 2.50 - 3.49: A: 3.50 - 4.00: X: Absent} \\ \textbf{Grade Range for CGPA:-} C: 1.50 - 1.99: C +: 2.00 - 2.49: B: 2.50 - 2.99: B +: 3.00 - 3.49: A: 3.50 - 3.79: A +: 3.80 - 4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

P= Passed F= Failed

The following grades are awarded to Sri/Smt JISMINE GEORGE at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: MG21BSDL019

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation - I	8	1.60	С	12.80	Р
Optional II SDE 3B07 COM Co-operation - II	8	1.39	D	11.12	Р
Total	16			23.92	
CGPA(Cumulative Grade Point	Average)		С	1.50	Р

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E:0.00-0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent \\ \textbf{Grade Range for CGPA:-}C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt NAMITHA M K at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: MG21BSDL020

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation - I	8	2.00	С	16.00	Р
Optional II SDE 3B07 COM Co-operation - II	8	1.53	С	12.24	Р
Total	16			28.24	
CGPA(Cumulative Grade Point	Average)		С	1.77	Р

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E: 0.00 - 0.49: \ D: 0.50-1.49: C: 1.50-2.49: B: 2.50-3.49: A: 3.50-4.00: X: Absent \\ \textbf{Grade Range for CGPA:-} C: 1.50-1.99: C+: 2.00-2.49: B: 2.50-2.99: B+: 3.00-3.49: A: 3.50-3.79: A+: 3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt **NEETHUMOL T** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: MG21BSDL021

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers	l				
Optional I SDE 2B03 COM Co-operation - I	8	3.00	В	24.00	Р
Optional II SDE 3B07 COM Co-operation - II	8	2.50	В	20.00	Р
Total	16			44.00	
CGPA(Cumulative Grade Point	Average)		В	2.75	Р

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E:0.00-0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent \\ \textbf{Grade Range for CGPA:-} C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt PRAISY K SAM at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: MG21BSDL022

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation - I	8	1.32	D	10.56	Р
Optional II SDE 3B07 COM Co-operation - II	8	1.67	С	13.36	Р
Total	16			23.92	
CGPA(Cumulative Grade Point	Average)		С	1.50	Р

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E:0.00-0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent \\ \textbf{Grade Range for CGPA:-}C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt RAMISHA V at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: MG21BSDL023

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers	l				
Optional I SDE 2B03 COM Co-operation - I	8	1.63	С	13.04	Р
Optional II SDE 3B07 COM Co-operation - II	8	1.37	D	10.96	Р
Total	16			24.00	
CGPA(Cumulative Grade Point	Average)		С	1.50	Р

**Grade Range for Paper**:-E:0.00 - 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+2.00-2.49:B:2.50-2.99:B+3.00-3.49:A:3.50-3.79:A+3.80-4.00 **Pass Conditions**: Minimum D grade for a paper and minimum CGPA of **1.50 (C Grade)** 

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt REJINA C at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: MG21BSDL024

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation - I	8	2.80	В	22.40	Р
Optional II SDE 3B07 COM Co-operation - II	8	2.30	С	18.40	Р
Total	16			40.80	
CGPA(Cumulative Grade Point	Average)		В	2.55	Р

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E: 0.00 - 0.49: D: 0.50-1.49: C: 1.50-2.49: B: 2.50-3.49: A: 3.50-4.00: X: Absent \\ \textbf{Grade Range for CGPA:-} C: 1.50-1.99: C+: 2.00-2.49: B: 2.50-2.99: B+: 3.00-3.49: A: 3.50-3.79: A+: 3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt SANDRA V S at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: MG21BSDL025

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers	l				
Optional I SDE 2B03 COM Co-operation - I	8	2.70	В	21.60	Р
Optional II SDE 3B07 COM Co-operation - II	8	2.20	С	17.60	Р
Total	16			39.20	
CGPA(Cumulative Grade Point	Average)		C+	2.45	Р

**Grade Range for Paper**:-E:0.00 - 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+2.00-2.49:B:2.50-2.99:B+3.00-3.49:A:3.50-3.79:A+3.80-4.00 **Pass Conditions**: Minimum D grade for a paper and minimum CGPA of **1.50 (C Grade)** 

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt SRUTHI K at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: MG21BSDL026

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation - I	8	1.90	С	15.20	Р
Optional II SDE 3B07 COM Co-operation - II	8	1.53	С	12.24	Р
Total	16			27.44	
CGPA(Cumulative Grade Point	Average)		С	1.72	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt **SRUTHI SIVADAS** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: MG21BSDL027

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation - I	8	1.83	С	14.64	Р
Optional II SDE 3B07 COM Co-operation - II	8	2.27	С	18.16	Р
Total	16			32.80	
CGPA(Cumulative Grade Point	Average)		C+	2.05	Р

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E: 0.00 - 0.49: D: 0.50-1.49: C: 1.50-2.49: B: 2.50-3.49: A: 3.50-4.00: X: Absent \\ \textbf{Grade Range for CGPA:-} C: 1.50-1.99: C+: 2.00-2.49: B: 2.50-2.99: B+: 3.00-3.49: A: 3.50-3.79: A+: 3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt SRUTHI SUDHAKARAN at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: MG21BSDL028

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation - I	8	1.90	С	15.20	Р
Optional II SDE 3B07 COM Co-operation - II	8	1.50	С	12.00	Р
Total	16			27.20	
CGPA(Cumulative Grade Point	Average)		С	1.70	Р

**Grade Range for Paper**:-E:0.00 - 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+2.00-2.49:B:2.50-2.99:B+3.00-3.49:A:3.50-3.79:A+3.80-4.00 **Pass Conditions**: Minimum D grade for a paper and minimum CGPA of **1.50 (C Grade)** 

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt VANDANA HARSHA K at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: MG21BSDL029

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation - I	8	1.80	С	14.40	Р
Optional II SDE 3B07 COM Co-operation - II	8	1.33	D	10.64	Р
Total	16			25.04	
CGPA(Cumulative Grade Point	Average)		С	1.57	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt VEENA K K at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: MG21BSDL030

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation - I	8	1.23	D	9.84	Р
Optional II SDE 3B07 COM Co-operation - II	8	1.27	D	10.16	Р
Total	16			20.00	
CGPA(Cumulative Grade Point	Average)		-	1.25	F

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt VEENA P at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: MG21BSDL031

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation - I	8	1.93	С	15.44	Р
Optional II SDE 3B07 COM Co-operation - II	8	1.97	С	15.76	Р
Total	16			31.20	
CGPA(Cumulative Grade Point A	Average)		С	1.95	Р

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E: 0.00 - 0.49: D: 0.50-1.49: C: 1.50-2.49: B: 2.50-3.49: A: 3.50-4.00: X: Absent \\ \textbf{Grade Range for CGPA:-} C: 1.50-1.99: C+: 2.00-2.49: B: 2.50-2.99: B+: 3.00-3.49: A: 3.50-3.79: A+: 3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt VRINDA K at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: MG21BSDL032

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
DE 2B03 COM Co-operation - I 8 2.43 C 19.44					
Optional I SDE 2B03 COM Co-operation - I	8	2.43	С	19.44	Р
Optional II SDE 3B07 COM Co-operation - II	8	3.10	В	24.80	Р
Total	16			44.24	
CGPA(Cumulative Grade Point	Average)		В	2.77	Р

**Grade Range for Paper**:-E:0.00 - 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+2.00-2.49:B:2.50-2.99:B+3.00-3.49:A:3.50-3.79:A+3.80-4.00 **Pass Conditions**: Minimum D grade for a paper and minimum CGPA of **1.50 (C Grade)** 

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt ADARSH SUDHAN at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: MG21BSDL034

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation - I	8	1.80	С	14.40	Р
Optional II SDE 3B07 COM Co-operation - II	8	1.33	D	10.64	Р
Total	16			25.04	
CGPA(Cumulative Grade Point A	Average)		С	1.57	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt AJIL NELSON at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: MG21BSDL035

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers	ional I 8 X - I				
Optional I SDE 2B03 COM Co-operation - I	8	Х	-	-	F
Optional II SDE 3B07 COM Co-operation - II	8	Х	-	-	F
Total	16			-	
CGPA(Cumulative Grade Point	Average)		-	-	F

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E: 0.00 - 0.49: \ D: 0.50 - 1.49: C: 1.50 - 2.49: B: 2.50 - 3.49: A: 3.50 - 4.00: X: Absent} \\ \textbf{Grade Range for CGPA:-} C: 1.50 - 1.99: C +: 2.00 - 2.49: B: 2.50 - 2.99: B +: 3.00 - 3.49: A: 3.50 - 3.79: A +: 3.80 - 4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt AKSHAY. K at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: MG21BSDL036

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation - I	8	Х	-	-	F
Optional II SDE 3B07 COM Co-operation - II	8	1.50	С	12.00	Р
Total	16			12.00	
CGPA(Cumulative Grade Point	Average)		-	0.75	F

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 **Pass Conditions**: Minimum D grade for a paper and minimum CGPA of **1.50 (C Grade)** 

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt AMRITHESH T at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: MG21BSDL037

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
De 2B03 COM Co-operation - I 8 1.93 C 15.44					
Optional I SDE 2B03 COM Co-operation - I	8	1.93	С	15.44	Р
Optional II SDE 3B07 COM Co-operation - II	8	2.00	С	16.00	Р
Total	16			31.44	
CGPA(Cumulative Grade Point	Average)		С	1.97	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 **Pass Conditions**: Minimum D grade for a paper and minimum CGPA of **1.50 (C Grade)** 

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt ARJUN K K at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: MG21BSDL038

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers	al Optional Papers  I I S COM Co-operation -				
Optional I SDE 2B03 COM Co-operation - I	8	2.40	С	19.20	Р
Optional II SDE 3B07 COM Co-operation - II	8	2.87	В	22.96	Р
Total	16			42.16	
CGPA(Cumulative Grade Point	Average)		В	2.64	Р

**Grade Range for Paper**:-E:0.00 - 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+2.00-2.49:B:2.50-2.99:B+3.00-3.49:A:3.50-3.79:A+3.80-4.00 **Pass Conditions**: Minimum D grade for a paper and minimum CGPA of **1.50 (C Grade)** 

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt EMMANUEL THOMAS at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: MG21BSDL039

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers	nal I 8 1 93 C 15 44				
Optional I SDE 2B03 COM Co-operation - I	8	1.93	С	15.44	Р
Optional II SDE 3B07 COM Co-operation - II	8	1.30	D	10.40	Р
Total	16			25.84	
CGPA(Cumulative Grade Point	Average)		С	1.62	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 **Pass Conditions**: Minimum D grade for a paper and minimum CGPA of **1.50 (C Grade)** 

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt RAGILRAJ. N. V at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: MG21BSDL040

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation - I	8	2.03	С	16.24	Р
Optional II SDE 3B07 COM Co-operation - II	8	2.13	С	17.04	Р
Total	16			33.28	
CGPA(Cumulative Grade Point	Average)		C+	2.08	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt RAHUL RAJ P at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: MG21BSDL041

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation - I	8	2.70	В	21.60	Р
Optional II SDE 3B07 COM Co-operation - II	8	3.10	В	24.80	Р
Total	16			46.40	
CGPA(Cumulative Grade Point	Average)		В	2.90	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt SARATHKUMAR M V at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: MG21BSDL042

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers	Awarded Awarded Point  al Papers  operation - I  8 1.67 C 13.36  8 1.70 C 13.60				
Optional I SDE 2B03 COM Co-operation - I	8	1.67	С	13.36	Р
Optional II SDE 3B07 COM Co-operation - II	8	1.70	С	13.60	Р
Total	16			26.96	
CGPA(Cumulative Grade Point	Average)		С	1.69	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 **Pass Conditions**: Minimum D grade for a paper and minimum CGPA of **1.50 (C Grade)** 

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt SHANU N K at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: MG21BSDL043

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation - I	8	1.77	С	14.16	Р
Optional II SDE 3B07 COM Co-operation - II	8	1.77	С	14.16	Р
Total	16			28.32	
CGPA(Cumulative Grade Point	Average)		С	1.77	Р

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E:0.00-0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent \\ \textbf{Grade Range for CGPA:-} C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt TELBIN P THOMAS at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: MG21BSDL044

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation - I	8	2.00	С	16.00	Р
Optional II SDE 3B07 COM Co-operation - II	8	2.03	С	16.24	Р
Total	16			32.24	
CGPA(Cumulative Grade Point	Average)		C+	2.02	Р

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E: 0.00 - 0.49: \ D: 0.50-1.49: C: 1.50-2.49: B: 2.50-3.49: A: 3.50-4.00: X: Absent \\ \textbf{Grade Range for CGPA:-} C: 1.50-1.99: C+: 2.00-2.49: B: 2.50-2.99: B+: 3.00-3.49: A: 3.50-3.79: A+: 3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt VAISAKH P . S at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: MG21BSDL045

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers	I			I	I
Optional I SDE 2B03 COM Co-operation - I	8	1.33	D	10.64	Р
Optional II SDE 3B07 COM Co-operation - II	8	2.13	С	17.04	Р
Total	16			27.68	
CGPA(Cumulative Grade Point	Average)		С	1.73	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 **Pass Conditions**: Minimum D grade for a paper and minimum CGPA of **1.50 (C Grade)** 

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt DILNA P D at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: MG21BSDL046

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation - I	8	1.70	С	13.60	Р
Optional II SDE 3B07 COM Co-operation - II	8	1.29	D	10.32	Р
Total	16			23.92	
CGPA(Cumulative Grade Point	Average)		С	1.50	Р

 $\label{eq:Grade Range for Paper:-E:0.00-0.49:D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent \\ \textbf{Grade Range for CGPA}:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 \\ \textbf{Grade Range for CGPA}:-C:1.50-1.99:C+:2.00-2.99:B+:3.00-2.99:B+:3.00-3.79:A+:3.80-3.79:A+:$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P**= Passed **F**= Failed

The following grades are awarded to Sri/Smt ASAINAR K P at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: MG21BSDL048

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers	8 X				
Optional I SDE 2B03 COM Co-operation - I	8	Х	-	-	F
Optional II SDE 3B07 COM Co-operation - II	8	Х	-	-	F
Total	16			-	
CGPA(Cumulative Grade Point	Average)		-	-	F

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt **SRUTHI THERES ABRAHM** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: **SP21BSDL001** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation - I	8	3.13	В	25.04	Р
Optional II SDE 3B07 COM Co-operation - II	8	3.33	В	26.64	Р
Total	16			51.68	
CGPA(Cumulative Grade Point	Average)		B+	3.23	Р

 $\begin{array}{l} \textbf{Grade Range for Paper} : -E:0.00 - 0.49: \ D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent \\ \textbf{Grade Range for CGPA} : -C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P**= Passed **F**= Failed

The following grades are awarded to Sri/Smt. AISWARYA.M.V at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: CA21BSDL001

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	1.03	D	8.24	Р
Optional II SDE 2B07 COM Co-operation - II	8	0.5	D	4	Р
Total	16			12.24	
CGPA(Cumulative Grade Point	Average)		-	0.77	F

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/ Smt AMBILI LAKSHMANAN at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: CA21BSDL002

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers	8         1.07         D         8.56         F           0-operation - II         8         X         -         -         F           16         -         -         -         -         F				
Optional I SDE 2B03 COM Co-operation -I	8	1.07	D	8.56	Р
Optional II SDE 2B07 COM Co-operation - II	8	Х	-	-	F
Total	16			-	
CGPA(Cumulative Grade Point	Average)		-	-	F

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. APINA T V at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: CA21BSDL003

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	1.13	D	9.04	Р
Optional II SDE 2B07 COM Co-operation - II	8	0.87	D	6.96	Р
Total	16			16	
CGPA(Cumulative Grade Point	Average)		-	1	F

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. **NAJEEBA THUYYADI** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: CA21BSDL004

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers	8 1 73 C 13 84				
Optional I SDE 2B03 COM Co-operation -I	8	1.73	С	13.84	Р
Optional II SDE 2B07 COM Co-operation - II	8	1.27	D	10.16	Р
Total	16			24	
CGPA(Cumulative Grade Point	Average)		С	1.5	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. **NAMITHA S MOHAN** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: CA21BSDL005

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	1.17	D	9.36	Р
Optional II SDE 2B07 COM Co-operation - II	8	1.2	D	9.6	Р
Total	16			18.96	
CGPA(Cumulative Grade Point	Average)			1.19	F

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. NIMISHA C V at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: CA21BSDL006

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	Х	-	-	F
Optional II SDE 2B07 COM Co-operation - II	8	Х	-	1	F
Total	16			-	
CGPA(Cumulative Grade Point	Average)		-	-	F

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. NITHYA P at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: CA21BSDL007

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	2.1	С	16.8	Р
Optional II SDE 2B07 COM Co-operation - II	8	2.17	С	17.36	Р
Total	16			34.16	
CGPA(Cumulative Grade Point	Average)		C+	2.14	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. **SARANYA C V** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: CA21BSDL008

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers	onal I 2B03 COM Co-operation -I Onal II				
Optional I SDE 2B03 COM Co-operation -I	8	1.7	С	13.6	Р
Optional II SDE 2B07 COM Co-operation - II	8	1.37	D	10.96	Р
Total	16			24.56	
CGPA(Cumulative Grade Point	Average)		С	1.54	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. **SHIJINA N V** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: CA21BSDL009

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result	
Additional Optional Papers			C 16 7 C 16.56 32.56			
Optional I SDE 2B03 COM Co-operation -I	8	2	С	16	Р	
Optional II SDE 2B07 COM Co-operation - II	8	2.07	С	16.56	Р	
Total	16			32.56		
CGPA(Cumulative Grade Point	Average)		C+	2.04	Р	

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. **SHYNA V V** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: CA21BSDL010

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	Х	-	-	F
Optional II SDE 2B07 COM Co-operation - II	8	Х	-	1	F
Total	16			-	
CGPA(Cumulative Grade Point	Average)		-	-	F

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. **SUDHA P V** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: CA21BSDL011

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
ptional I DE 2B03 COM Co-operation -I Septional II					
Optional I SDE 2B03 COM Co-operation -I	8	1.7	С	13.6	Р
Optional II SDE 2B07 COM Co-operation - II	8	1.9	С	15.2	Р
Total	16			28.8	
SDE 2B03 COM Co-operation -I  Optional II  SDE 2B07 COM Co-operation - II  8 1.7 1.9			С	1.8	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. JISHNU at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: CA21BSDL012

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	1.57	С	12.56	Р
Optional II SDE 2B07 COM Co-operation - II	8	1	D	8	Р
Total	16			20.56	
CGPA(Cumulative Grade Point	Average)		-	1.29	F

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. **NAVEEN ANAND V** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: CA21BSDL013

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers	D-operation -I 8 1.4 D 11.2				
Optional I SDE 2B03 COM Co-operation -I	8	1.4	D	11.2	Р
Optional II SDE 2B07 COM Co-operation - II	8	1.63	С	13.04	Р
Total	16			24.24	
CGPA(Cumulative Grade Point	Average)		С	1.52	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. PRITHWIRAJ K at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: CA21BSDL014

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	0.8	D	6.4	Р
Optional II SDE 2B07 COM Co-operation - II	8	0.5	D	4	Р
Total	16			10.4	
Additional Optional Papers  Optional I DE 2B03 COM Co-operation -I Optional II DE 2B07 COM Co-operation - II  8 0.8			-	0.65	F

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. **SUDHEESH P V** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: CA21BSDL015

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	1.17	D	9.36	Р
Optional II SDE 2B07 COM Co-operation - II	8	0.97	D	7.76	Р
Total	16			17.12	
CGPA(Cumulative Grade Point	Average)		-	1.07	F

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. **ULLAS SANKAR P** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: CA21BSDL016

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	0.7	D	5.6	Р
Optional II SDE 2B07 COM Co-operation - II	8	Х	1	-	F
Total	16			-	
dditional Optional Papers  ptional I DE 2B03 COM Co-operation -I ptional II DE 2B07 COM Co-operation - II  8 0.7			-	-	F

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. **REVATHI** K at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: CA21BSDL017

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	х	-	-	F
Optional II SDE 2B07 COM Co-operation - II	8	Х	-	-	F
Total	16			-	
CGPA(Cumulative Grade Point	Average)		-	-	F

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. **DEEPNA C K** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: **GB21BSDL001** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	1.9	С	15.2	Р
Optional II SDE 2B07 COM Co-operation - II	8	2.5	В	20	Р
Total	16			35.2	
Additional Optional Papers  Optional I DE 2B03 COM Co-operation -I Optional II DE 2B07 COM Co-operation - II  8 1.9 2.5			C+	2.2	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. **MEGHA K** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: **GB21BSDL002** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	3	В	24	Р
Optional II SDE 2B07 COM Co-operation - II	8	2.4	С	19.2	Р
Total	16			43.2	
CGPA(Cumulative Grade Point	Average)		В	2.7	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. **NIMISHA M** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: **GB21BSDL003** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	1.5	С	12	Р
Optional II SDE 2B07 COM Co-operation - II	8	1.63	С	13.04	Р
Total	16			25.04	
dditional Optional Papers  ptional I DE 2B03 COM Co-operation -I ptional II DE 2B07 COM Co-operation - II  8 1.63			С	1.57	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. RILNA M K at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: GB21BSDL004

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	2.63	В	21.04	Р
Optional II SDE 2B07 COM Co-operation - II	8	2	С	16	Р
Total	16			37.04	
Additional Optional Papers  Optional I  DE 2B03 COM Co-operation -I  Optional II  DE 2B07 COM Co-operation - II  8 2.63			C+	2.32	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. **SYTHYA K** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: **GB21BSDL005** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	1.67	С	13.36	Р
Optional II SDE 2B07 COM Co-operation - II	8	1.33	D	10.64	Р
Total	16			24	
dditional Optional Papers  ptional I DE 2B03 COM Co-operation -I ptional II DE 2B07 COM Co-operation - II  8 1.67 8 1.33			С	1.5	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. AMAL K at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: **GB21BSDL006** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	2.73	В	21.84	Р
Optional II SDE 2B07 COM Co-operation - II	8	1.17	D	9.36	Р
Total	16			31.2	
Additional Optional Papers  Optional I DE 2B03 COM Co-operation -I Optional II DE 2B07 COM Co-operation - II  8 2.73 1.17			С	1.95	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. **ASWANTH VIJAYAN** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: GB21BSDL007

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	0.8	D	6.4	Р
Optional II SDE 2B07 COM Co-operation - II	8	0.7	D	5.6	Р
Total	16			12	
Additional Optional Papers  Optional I  DE 2B03 COM Co-operation -I  Optional II  DE 2B07 COM Co-operation - II  8  0.8			-	0.75	F

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. JAYESH MOHAN at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: **GB21BSDL008** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	1.6	С	12.8	Р
Optional II SDE 2B07 COM Co-operation - II	8	1.5	С	12	Р
Total	16			24.8	
dditional Optional Papers  ptional I DE 2B03 COM Co-operation -I ptional II DE 2B07 COM Co-operation - II  8 1.6			С	1.55	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. LIBIN K N at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: **GB21BSDL009** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	0.57	D	4.56	Р
Optional II SDE 2B07 COM Co-operation - II	8	0.3	E	2.4	F
Total	16			6.96	
CGPA(Cumulative Grade Point	Average)		-	0.44	F

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. **SHARATH P R** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: **GB21BSDL010** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	1.1	D	8.8	Р
Optional II SDE 2B07 COM Co-operation - II	8	1.3	D	10.4	Р
Total	16			19.2	
CGPA(Cumulative Grade Point	Average)		-	1.2	F

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. **JESMIN JOY** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: **SE21BSDL002** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	1.5	С	12	Р
Optional II SDE 2B07 COM Co-operation - II	8	1.03	D	8.24	Р
Total	16			20.24	
CGPA(Cumulative Grade Point	Average)		-	1.27	F

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. NAVYA N V at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: **SE21BSDL004** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers	al Papers  -operation -I				
Optional I SDE 2B03 COM Co-operation -I	8	1.53	С	12.24	Р
Optional II SDE 2B07 COM Co-operation - II	8	2.27	С	18.16	Р
Total	16			30.4	
CGPA(Cumulative Grade Point	Average)		С	1.9	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. **SHINSHA K P** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: **SE21BSDL005** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	1.63	С	13.04	Р
Optional II SDE 2B07 COM Co-operation - II	8	1.37	D	10.96	Р
Total	16			24	
CGPA(Cumulative Grade Point	Average)		С	1.5	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. **ALPHONSA MATHEW** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: **SE21BSDL007** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	1.6	С	12.8	Р
Optional II SDE 2B07 COM Co-operation - II	8	1.87	С	14.96	Р
Total	16			27.76	
CGPA(Cumulative Grade Point	Average)		С	1.74	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. **ATHIRA PAVITHRAN** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: NG21BSDL001

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	2.13	С	17.04	Р
Optional II SDE 2B07 COM Co-operation - II	8	3	В	24	Р
Total	16			41.04	
CGPA(Cumulative Grade Point	Average)		В	2.57	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. CHRISTY MATHEW at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: NG21BSDL002

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	2.1	С	16.8	Р
Optional II SDE 2B07 COM Co-operation - II	8	2.77	В	22.16	Р
Total	16			38.96	
CGPA(Cumulative Grade Point	Average)		C+	2.44	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. **DIVYA P K** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: NG21BSDL003

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	1.57	С	12.56	Р
Optional II SDE 2B07 COM Co-operation - II	8	1.42	D	11.36	Р
Total	16			23.92	
CGPA(Cumulative Grade Point	Average)		С	1.5	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. HARSHA MOHAN at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: NG21BSDL004

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	2.27	С	18.16	Р
Optional II SDE 2B07 COM Co-operation - II	8	3.07	В	24.56	Р
Total	16			42.72	
CGPA(Cumulative Grade Point	Average)		В	2.67	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. **ABHINA V P** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: NG16BSDL001

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	Х	-	-	F
Optional II SDE 2B07 COM Co-operation - II	8	Х	-	1	F
Total	16			-	
CGPA(Cumulative Grade Point	Average)		-	-	F

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. ANUSHA M at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: **KM21BSDL001** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	2	С	16	Р
Optional II SDE 2B07 COM Co-operation - II	8	1.33	D	10.64	Р
Total	16			26.64	
CGPA(Cumulative Grade Point	Average)		С	1.67	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. **ASWATHI E V** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: **KM21BSDL002** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result	
Additional Optional Papers						
Optional I SDE 2B03 COM Co-operation -I	8	2.5	В	20	Р	
Optional II SDE 2B07 COM Co-operation - II	8	2.5	В	20	Р	
Total	16			40		
CGPA(Cumulative Grade Point	Average)		В	2.5	Р	

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. **BRINDA RADHAKRISHNAN** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: **KM21BSDL003** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers	I			l	
Optional I SDE 2B03 COM Co-operation -I	8	1.49	D	11.92	Р
Optional II SDE 2B07 COM Co-operation - II	8	1.5	С	12	Р
Total	16			23.92	
CGPA(Cumulative Grade Point	Average)		С	1.5	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. JIJINA P K at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: KM21BSDL004

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	3.6	А	28.8	Р
Optional II SDE 2B07 COM Co-operation - II	8	3.5	А	28	Р
Total	16			56.8	
CGPA(Cumulative Grade Point	Average)		Α	3.55	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. **SREESHA S** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: **KM21BSDL005** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result	
Additional Optional Papers						
Optional I SDE 2B03 COM Co-operation -I	8	2.03	С	16.24	Р	
Optional II SDE 2B07 COM Co-operation - II	8	2.1	С	16.8	Р	
Total	16			33.04		
CGPA(Cumulative Grade Point	Average)		C+	2.07	Р	

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. **SAVITHA C S** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

# Register Number: KM19BSDL004

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	1	D	8	Р
Optional II SDE 2B07 COM Co-operation - II	8	1.5	С	12	Р
Total	16			20	
CGPA(Cumulative Grade Point	Average)		-	1.25	F

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. **AMRITHA A K** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: **SN21BSDL001** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	2.07	С	16.56	Р
Optional II SDE 2B07 COM Co-operation - II	8	3.5	А	28	Р
Total	16			44.56	
CGPA(Cumulative Grade Point	Average)		В	2.79	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. AMRUTHA K P at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: **SN21BSDL002** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	2.33	С	18.64	Р
Optional II SDE 2B07 COM Co-operation - II	8	3.5	А	28	Р
Total	16			46.64	
CGPA(Cumulative Grade Point	Average)		В	2.92	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. **AMRUTHA P** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: **SN21BSDL003** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	2.07	С	16.56	Р
Optional II SDE 2B07 COM Co-operation - II	8	2.3	С	18.4	Р
Total	16			34.96	
CGPA(Cumulative Grade Point	Average)		C+	2.19	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. **ANAGHA SURESH** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: **SN21BSDL004** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	1.67	С	13.36	Р
Optional II SDE 2B07 COM Co-operation - II	8	1.5	С	12	Р
Total	16			25.36	
CGPA(Cumulative Grade Point	Average)		С	1.59	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. ANUSHA K V at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: **SN21BSDL005** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result		
Additional Optional Papers							
Optional I SDE 2B03 COM Co-operation -I	8	3.2	В	25.6	Р		
Optional II SDE 2B07 COM Co-operation - II	8	3.13	В	25.04	Р		
Total	16			50.64			
CGPA(Cumulative Grade Point	Average)		B+	3.17	Р		

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. ANUSREE C P at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: **SN21BSDL006** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	1.33	D	10.64	Р
Optional II SDE 2B07 COM Co-operation - II	8	1.72	С	13.76	Р
Total	16			24.4	
CGPA(Cumulative Grade Point	Average)		С	1.53	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. ANUSREE K V at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: **SN21BSDL007** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	3.17	В	25.36	Р
Optional II SDE 2B07 COM Co-operation - II	8	3.23	В	25.84	Р
Total	16			51.2	
CGPA(Cumulative Grade Point	Average)		B+	3.2	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. **ATHIRA K.V.** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: **SN21BSDL008** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	0.83	D	6.64	Р
Optional II SDE 2B07 COM Co-operation - II	8	0.33	E	2.64	F
Total	16			9.28	
CGPA(Cumulative Grade Point	Average)		-	0.58	F

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. **DEVIKA RAJITH** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: **SN21BSDL009** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	Х	-	-	F
Optional II SDE 2B07 COM Co-operation - II	8	Х	-	1	F
Total	16			-	
CGPA(Cumulative Grade Point	Average)		-	-	F

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. JYOTHIKA JOSHY at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: **SN21BSDL010** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	1.7	С	13.6	Р
Optional II SDE 2B07 COM Co-operation - II	8	2.5	В	20	Р
Total	16			33.6	
CGPA(Cumulative Grade Point	Average)		C+	2.1	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. KRIPA KRISHNAN P K at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: **SN21BSDL011** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	1.8	С	14.4	Р
Optional II SDE 2B07 COM Co-operation - II	8	1.6	С	12.8	Р
Total	16			27.2	
CGPA(Cumulative Grade Point	Average)		С	1.7	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. **NEETHU P** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: **SN21BSDL012** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	1.93	С	15.44	Р
Optional II SDE 2B07 COM Co-operation - II	8	1.8	С	14.4	Р
Total	16			29.84	
CGPA(Cumulative Grade Point	Average)		С	1.87	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. **NEHA SUDHEESH** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: **SN21BSDL013** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	1.77	С	14.16	Р
Optional II SDE 2B07 COM Co-operation - II	8	2.1	С	16.8	Р
Total	16			30.96	
CGPA(Cumulative Grade Point	Average)		С	1.94	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. **THEERTHA C** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: **SN21BSDL015** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	1.17	D	9.36	Р
Optional II SDE 2B07 COM Co-operation - II	8	1.83	С	14.64	Р
Total	16			24	
CGPA(Cumulative Grade Point	Average)		С	1.5	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. **THEERTHANA P K** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: **SN21BSDL016** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	0.27	E	2.16	F
Optional II SDE 2B07 COM Co-operation - II	8	0.7	D	5.6	Р
Total	16			7.76	
CGPA(Cumulative Grade Point	Average)		-	0.49	F

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. **AKSHAY KRISHNAN V** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: **SN21BSDL017** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	1.7	С	13.6	Р
Optional II SDE 2B07 COM Co-operation - II	8	1.6	С	12.8	Р
Total	16			26.4	
CGPA(Cumulative Grade Point	Average)		С	1.65	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. AMAL P K at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: **SN21BSDL018** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	Х	-	-	F
Optional II SDE 2B07 COM Co-operation - II	8	1.53	С	12.24	-
Total	16			-	
CGPA(Cumulative Grade Point	Average)		-	-	F

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. HARITH GANGAN V at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: **SN21BSDL019** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	1.3	D	10.4	Р
Optional II SDE 2B07 COM Co-operation - II	8	1.7	С	13.6	Р
Total	16			24	
CGPA(Cumulative Grade Point	Average)		С	1.5	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. JASHWANTH DILEEP at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: **SN21BSDL020** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE 2B03 COM Co-operation -I	8	1.5	С	12	Р
Optional II SDE 2B07 COM Co-operation - II	8	1.5	С	12	Р
Total	16			24	
CGPA(Cumulative Grade Point	Average)		С	1.5	Р

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt. RANJITH E M at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: **SN21BSDL021** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result		
Additional Optional Papers							
Optional I SDE 2B03 COM Co-operation -I	8	1.5	С	12	Р		
Optional II SDE 2B07 COM Co-operation - II	8	2.5	В	20	Р		
Total	16			32			
CGPA(Cumulative Grade Point	Average)		C+	2	Р		

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

# **GRADE CARD**

The following grades are awarded to Sri/Smt. **TOGY JOSE** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: **SN19BSDL010** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result		
Additional Optional Papers							
Optional I SDE 2B03 COM Co-operation -I	8	1.5	С	12	Р		
Optional II SDE 2B07 COM Co-operation - II	8	2.27	С	18.16	Р		
Total	16			30.16			
CGPA(Cumulative Grade Point	Average)		С	1.89	Р		

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt AISHWARYA C V at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: **PP21BSDL001** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result		
Additional Optional Papers							
Optional I SDE2B03COM Co-operation-I	8	2.53	В	20.24	Р		
Optional II SDE3B07COM Co-operation-II	8	2.3	С	18.4	Р		
Total	16			38.64			
CGPA(Cumulative Grade Point	Average)		C+	2.42			

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt ALEENA GEORGE at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: PP21BSDL002

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result		
Additional Optional Papers							
Optional I SDE2B03COM Co-operation-I	8	2.03	С	16.24	Р		
Optional II SDE3B07COM Co-operation-II	8	1.2	D	9.6	Р		
Total	16			25.84			
CGPA(Cumulative Grade Point	Average)		С	1.62			

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt ANJANA M V at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: PP21BSDL003

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE2B03COM Co-operation-I	8	Х	-	-	F
Optional II SDE3B07COM Co-operation-II	8	X	-	-	F
Total	16			-	
CGPA(Cumulative Grade Point	Average)		-	-	

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E: 0.00 - 0.49: \ D: 0.50-1.49: C: 1.50-2.49: B: 2.50-3.49: A: 3.50-4.00: X: Absent \\ \textbf{Grade Range for CGPA:-} C: 1.50-1.99: C+: 2.00-2.49: B: 2.50-2.99: B+: 3.00-3.49: A: 3.50-3.79: A+: 3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt ANUSHA K at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: PP21BSDL004

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result		
Additional Optional Papers							
Optional I SDE2B03COM Co-operation-I	8	2.17	С	17.36	Р		
Optional II SDE3B07COM Co-operation-II	8	2	С	16	Р		
Total	16			33.36			
CGPA(Cumulative Grade Point	Average)		C+	2.09			

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

#### **GRADE CARD**

The following grades are awarded to Sri/Smt ANUSHA P P at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: PP21BSDL005

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result		
Additional Optional Papers							
Optional I SDE2B03COM Co-operation-I	8	Х	-	-	F		
Optional II SDE3B07COM Co-operation-II	8	X	-	-	F		
Total	16			-			
CGPA(Cumulative Grade Point	Average)		-	-			

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

#### **GRADE CARD**

The following grades are awarded to Sri/Smt **ASWATHI C** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: PP21BSDL006

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result		
Additional Optional Papers							
Optional I SDE2B03COM Co-operation-I	8	3	В	24	Р		
Optional II SDE3B07COM Co-operation-II	8	3.1	В	24.8	Р		
Total	16			48.8			
CGPA(Cumulative Grade Point	Average)		B+	3.05			

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt CHITHRA SUDHAKARAN E at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: PP21BSDL007

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result			
Additional Optional Papers								
Optional I SDE2B03COM Co-operation-I	8	1.1	D	8.8	Р			
Optional II SDE3B07COM Co-operation-II	8	0.93	D	7.44	Р			
Total	16			16.24				
CGPA(Cumulative Grade Point	Average)		D	1.02				

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt **DEVIKA MANNAMPAT** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: **PP21BSLD008** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result	
Additional Optional Papers						
Optional I SDE2B03COM Co-operation-I	8	1.5	С	12	Р	
Optional II SDE3B07COM Co-operation-II	8	1.5	С	12	Р	
Total	16			24		
CGPA(Cumulative Grade Point	Average)		С	1.5		

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

# **GRADE CARD**

The following grades are awarded to Sri/Smt **DILNA H K** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: PP21BSDL009

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE2B03COM Co-operation-I	8	Х	-	-	F
Optional II SDE3B07COM Co-operation-II	8	X	-	-	F
Total	16			-	
CGPA(Cumulative Grade Point	Average)		-	-	

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E: 0.00 - 0.49: \ D: 0.50-1.49: C: 1.50-2.49: B: 2.50-3.49: A: 3.50-4.00: X: Absent \\ \textbf{Grade Range for CGPA:-} C: 1.50-1.99: C+: 2.00-2.49: B: 2.50-2.99: B+: 3.00-3.49: A: 3.50-3.79: A+: 3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

# **GRADE CARD**

The following grades are awarded to Sri/Smt **DILNA K P** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: **PP21BSDL010** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result		
Additional Optional Papers							
Optional I SDE2B03COM Co-operation-I	8	1.93	С	15.44	Р		
Optional II SDE3B07COM Co-operation-II	8	1.23	D	9.84	Р		
Total	16			25.28			
CGPA(Cumulative Grade Point	Average)		С	1.58			

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

# **GRADE CARD**

The following grades are awarded to Sri/Smt **GEETHA M** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: **PP21BSDL011** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result	
Additional Optional Papers						
Optional I SDE2B03COM Co-operation-I	8	х	-	-	F	
Optional II SDE3B07COM Co-operation-II	8	X	-	-	F	
Total	16			-		
CGPA(Cumulative Grade Point	Average)		-	-		

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

#### **GRADE CARD**

The following grades are awarded to Sri/Smt HARSHA G K at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: **PP21BSDL012** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result			
Additional Optional Papers								
Optional I SDE2B03COM Co-operation-I	8	Х	-	-	F			
Optional II SDE3B07COM Co-operation-II	8	X	-	-	F			
Total	16			-				
CGPA(Cumulative Grade Point	Average)		-	-				

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt KAVYA BALAKRISHNAN at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: PP21BSDL014

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result		
Additional Optional Papers							
Optional I SDE2B03COM Co-operation-I	8	1.83	С	14.64	Р		
Optional II SDE3B07COM Co-operation-II	8	1.5	С	12	Р		
Total	16			26.64			
CGPA(Cumulative Grade Point	Average)		С	1.67			

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt NAYANA K K at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: PP21BSDL015

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result		
Additional Optional Papers							
Optional I SDE2B03COM Co-operation-I	8	1.9	С	15.2	Р		
Optional II SDE3B07COM Co-operation-II	8	1.7	С	13.6	Р		
Total	16			28.8			
CGPA(Cumulative Grade Point	Average)		С	1.8			

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E: 0.00 - 0.49: \ D: 0.50-1.49: C: 1.50-2.49: B: 2.50-3.49: A: 3.50-4.00: X: Absent \\ \textbf{Grade Range for CGPA:-} C: 1.50-1.99: C+: 2.00-2.49: B: 2.50-2.99: B+: 3.00-3.49: A: 3.50-3.79: A+: 3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

# **GRADE CARD**

The following grades are awarded to Sri/Smt NIMISHA P P at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: **PP21BSDL016** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE2B03COM Co-operation-I	8	2.6	В	20.8	Р
Optional II SDE3B07COM Co-operation-II	8	2.97	В	23.76	Р
Total	16			44.56	
CGPA(Cumulative Grade Point	Average)		В	2.79	

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

# **GRADE CARD**

The following grades are awarded to Sri/Smt PRIYANKA M at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: PP21BSDL017

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result		
Additional Optional Papers							
Optional I SDE2B03COM Co-operation-I	8	2.6	В	20.8	Р		
Optional II SDE3B07COM Co-operation-II	8	3.33	В	26.64	Р		
Total	16			47.44			
CGPA(Cumulative Grade Point	Average)		В	2.97			

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt RAKHI K at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: PP21BSDL018

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE2B03COM Co-operation-I	8	2.27	С	18.16	Р
Optional II SDE3B07COM Co-operation-II	8	2.67	В	21.36	Р
Total	16			39.52	
CGPA(Cumulative Grade Point	Average)		C+	2.47	

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E: 0.00 - 0.49: \ D: 0.50-1.49: C: 1.50-2.49: B: 2.50-3.49: A: 3.50-4.00: X: Absent \\ \textbf{Grade Range for CGPA:-} C: 1.50-1.99: C+: 2.00-2.49: B: 2.50-2.99: B+: 3.00-3.49: A: 3.50-3.79: A+: 3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt RENUKA K P at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: PP21BSDL019

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers	1				
Optional I SDE2B03COM Co-operation-I	8	0.63	D	5.04	Р
Optional II SDE3B07COM Co-operation-II	8	1.3	D	10.4	Р
Total	16			15.44	
CGPA(Cumulative Grade Point	Average)		D	0.97	

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E: 0.00 - 0.49: \ D: 0.50-1.49: C: 1.50-2.49: B: 2.50-3.49: A: 3.50-4.00: X: Absent \\ \textbf{Grade Range for CGPA:-} C: 1.50-1.99: C+: 2.00-2.49: B: 2.50-2.99: B+: 3.00-3.49: A: 3.50-3.79: A+: 3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

# **GRADE CARD**

The following grades are awarded to Sri/Smt SANGEETHA VIJAYAN at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: **PP21BSDL020** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result		
Additional Optional Papers							
Optional I SDE2B03COM Co-operation-I	8	1.5	С	12	Р		
Optional II SDE3B07COM Co-operation-II	8	1.8	С	14.4	Р		
Total	16			26.4			
CGPA(Cumulative Grade Point	Average)		С	1.65			

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

# **GRADE CARD**

The following grades are awarded to Sri/Smt **SARANGI M** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: **PP21BSDL021** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result		
Additional Optional Papers							
Optional I SDE2B03COM Co-operation-I	8	2	С	16	Р		
Optional II SDE3B07COM Co-operation-II	8	1.8	С	14.4	Р		
Total	16			30.4			
CGPA(Cumulative Grade Point	Average)		С	1.9			

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

# **GRADE CARD**

The following grades are awarded to Sri/Smt SEESHNA M at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: PP21BSDL022

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result			
Additional Optional Papers								
Optional I SDE2B03COM Co-operation-I	8	Х	-	-	F			
Optional II SDE3B07COM Co-operation-II	8	X	-	-	F			
Total	16			-				
CGPA(Cumulative Grade Point	Average)		-	-				

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt SHIJINA P at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: PP21BSDL023

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers	1			I	I
Optional I SDE2B03COM Co-operation-I	8	2.53	В	20.24	Р
Optional II SDE3B07COM Co-operation-II	8	2.97	В	23.76	Р
Total	16			44	
CGPA(Cumulative Grade Point	Average)		В	2.75	

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E: 0.00 - 0.49: \ D: 0.50-1.49: C: 1.50-2.49: B: 2.50-3.49: A: 3.50-4.00: X: Absent \\ \textbf{Grade Range for CGPA:-} C: 1.50-1.99: C+: 2.00-2.49: B: 2.50-2.99: B+: 3.00-3.49: A: 3.50-3.79: A+: 3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

# **GRADE CARD**

The following grades are awarded to Sri/Smt SHIMILA P P at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: PP21BSDL024

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result	
Additional Optional Papers						
Optional I SDE2B03COM Co-operation-I	8	2.67	В	21.36	Р	
Optional II SDE3B07COM Co-operation-II	8	2.5	В	20	Р	
Total	16			41.36		
CGPA(Cumulative Grade Point	Average)		В	2.59		

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

# **GRADE CARD**

The following grades are awarded to Sri/Smt AKSHAYKUMAR S M at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: **PP21BSDL025** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result	
Additional Optional Papers	nal Optional Papers  II I					
Optional I SDE2B03COM Co-operation-I	8	1.57	С	12.56	Р	
Optional II SDE3B07COM Co-operation-II	8	1	D	8	Р	
Total	16			20.56		
CGPA(Cumulative Grade Point	Average)		D	1.29		

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

# **GRADE CARD**

The following grades are awarded to Sri/Smt ARJUN B at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: PP21BSDL026

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result	
Additional Optional Papers						
Optional I SDE2B03COM Co-operation-I	8	0.23	E	1.84	F	
Optional II SDE3B07COM Co-operation-II	8	Х	-	-	F	
Total	16			1.84		
CGPA(Cumulative Grade Point	Average)		-	0.12		

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt BIJIN V at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: PP21BSDL028

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE2B03COM Co-operation-I	8	1.37	D	10.96	Р
Optional II SDE3B07COM Co-operation-II	8	1.63	С	13.04	Р
Total	16			24	
CGPA(Cumulative Grade Point	Average)		С	1.5	

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E: 0.00 - 0.49: \ D: 0.50-1.49: C: 1.50-2.49: B: 2.50-3.49: A: 3.50-4.00: X: Absent \\ \textbf{Grade Range for CGPA:-} C: 1.50-1.99: C+: 2.00-2.49: B: 2.50-2.99: B+: 3.00-3.49: A: 3.50-3.79: A+: 3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

# **GRADE CARD**

The following grades are awarded to Sri/Smt BIPIN K at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: PP21BSDL029

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE2B03COM Co-operation-I	8	2.1	С	16.8	Р
Optional II SDE3B07COM Co-operation-II	8	1.87	С	14.96	Р
Total	16			31.76	
CGPA(Cumulative Grade Point	Average)		С	1.99	

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

# **GRADE CARD**

The following grades are awarded to Sri/Smt JITHESH K at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: **PP21BSDL030** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE2B03COM Co-operation-I	8	1	D	8	Р
Optional II SDE3B07COM Co-operation-II	8	0.9	D	7.2	Р
Total	16			15.2	
CGPA(Cumulative Grade Point	Average)		D	0.95	

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

# **GRADE CARD**

The following grades are awarded to Sri/Smt MANOJ K V at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: PP21BSDL031

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers	nal I 8 X - F				
Optional I SDE2B03COM Co-operation-I	8	Х	-	-	F
Optional II SDE3B07COM Co-operation-II	8	X	-	-	F
Total	16			-	
CGPA(Cumulative Grade Point	Average)		-	-	

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E: 0.00 - 0.49: \ D: 0.50-1.49: C: 1.50-2.49: B: 2.50-3.49: A: 3.50-4.00: X: Absent \\ \textbf{Grade Range for CGPA:-} C: 1.50-1.99: C+: 2.00-2.49: B: 2.50-2.99: B+: 3.00-3.49: A: 3.50-3.79: A+: 3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt NIDHIN K P at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: PP21BSDL032

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE2B03COM Co-operation-I	8	1.2	D	9.6	Р
Optional II SDE3B07COM Co-operation-II	8	1.23	D	9.84	Р
Total	16			19.44	
CGPA(Cumulative Grade Point	Average)		D	1.22	

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt PRASAD P V at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: PP21BSDL033

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE2B03COM Co-operation-I	8	0.93	D	7.44	Р
Optional II SDE3B07COM Co-operation-II	8	1.03	D	8.24	Р
Total	16			15.68	
CGPA(Cumulative Grade Point	Average)		D	0.98	

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E: 0.00 - 0.49: \ D: 0.50-1.49: C: 1.50-2.49: B: 2.50-3.49: A: 3.50-4.00: X: Absent \\ \textbf{Grade Range for CGPA:-} C: 1.50-1.99: C+: 2.00-2.49: B: 2.50-2.99: B+: 3.00-3.49: A: 3.50-3.79: A+: 3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt PRAVEESH V V at the B.Com. Degree **Examination (Additional Optional) March 2022.** 

Register Number: PP21BSDL034

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers	8 1 D 8 P				
Optional I SDE2B03COM Co-operation-I	8	1	D	8	Р
Optional II SDE3B07COM Co-operation-II	8	0.7	D	5.6	Р
Total	16			13.6	
CGPA(Cumulative Grade Point	Average)		D	0.85	

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

# **GRADE CARD**

The following grades are awarded to Sri/Smt RAJINTH M V at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: PP21BSDL035

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result	
Additional Optional Papers						
Optional I SDE2B03COM Co-operation-I	8	0.23	E	1.84	F	
Optional II SDE3B07COM Co-operation-II	8	Х	-	-	F	
Total	16			1.84		
CGPA(Cumulative Grade Point	Average)		-	0.12		

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E: 0.00 - 0.49: \ D: 0.50-1.49: C: 1.50-2.49: B: 2.50-3.49: A: 3.50-4.00: X: Absent \\ \textbf{Grade Range for CGPA:-} C: 1.50-1.99: C+: 2.00-2.49: B: 2.50-2.99: B+: 3.00-3.49: A: 3.50-3.79: A+: 3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt RASIN RAJU M at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: PP21BSDL036

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers	Papers         8         2.5         B         20         P           peration-I         8         1.97         C         15.76         P				
Optional I SDE2B03COM Co-operation-I	8	2.5	В	20	Р
Optional II SDE3B07COM Co-operation-II	8	1.97	С	15.76	Р
Total	16			35.76	
CGPA(Cumulative Grade Point	Average)		C+	2.24	

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E: 0.00 - 0.49: \ D: 0.50-1.49: C: 1.50-2.49: B: 2.50-3.49: A: 3.50-4.00: X: Absent \\ \textbf{Grade Range for CGPA:-} C: 1.50-1.99: C+: 2.00-2.49: B: 2.50-2.99: B+: 3.00-3.49: A: 3.50-3.79: A+: 3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

# **GRADE CARD**

The following grades are awarded to Sri/Smt SHIPIN IK at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: PP21BSDL037

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE2B03COM Co-operation-I	8	1.93	С	15.44	Р
Optional II SDE3B07COM Co-operation-II	8	1.77	С	14.16	Р
Total	16			29.6	
Optional I SDE2B03COM Co-operation-I Optional II SDE3B07COM Co-operation-II 8 1.93			С	1.85	

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt **SOORAJ P** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: PP21BSDL038

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result				
Additional Optional Papers									
Optional I SDE2B03COM Co-operation-I	8	1.27	D	10.16	Р				
Optional II SDE3B07COM Co-operation-II	8	1.17	D	9.36	Р				
Total	16			19.52					
CGPA(Cumulative Grade Point	Average)		D	1.22					

 $\begin{array}{l} \textbf{Grade Range for Paper:-E:} 0.00 - 0.49: \ D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent \\ \textbf{Grade Range for CGPA:-C:} 1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

P= Passed F= Failed

### **GRADE CARD**

The following grades are awarded to Sri/Smt VISHNU VIJAYAN at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: PP21BSDL039

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE2B03COM Co-operation-I	8	2.3	С	18.4	Р
Optional II SDE3B07COM Co-operation-II	8	2.5	В	20	Р
Total	16			38.4	
CGPA(Cumulative Grade Point	Average)		C+	2.4	

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E: 0.00 - 0.49: \ D: 0.50-1.49: C: 1.50-2.49: B: 2.50-3.49: A: 3.50-4.00: X: Absent \\ \textbf{Grade Range for CGPA:-} C: 1.50-1.99: C+: 2.00-2.49: B: 2.50-2.99: B+: 3.00-3.49: A: 3.50-3.79: A+: 3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt VIVEK C V at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: PP21BSDL040

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result				
Additional Optional Papers									
Optional I SDE2B03COM Co-operation-I	8	2.9	В	23.2	Р				
Optional II SDE3B07COM Co-operation-II	8	2.63	В	21.04	Р				
Total	16			44.24					
CGPA(Cumulative Grade Point	Average)		В	2.77					

 $\begin{array}{l} \textbf{Grade Range for Paper:-E:} 0.00 - 0.49: \ D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent \\ \textbf{Grade Range for CGPA:-C:} 1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

P= Passed F= Failed

### **GRADE CARD**

The following grades are awarded to Sri/Smt **DONA THOMAS** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: PP21BSDL041

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE2B03COM Co-operation-I	8	0.5	D	4	Р
Optional II SDE3B07COM Co-operation-II	8	0.37	E	2.96	F
Total	16			6.96	
CGPA(Cumulative Grade Point	Average)		-	0.44	

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

P= Passed F= Failed

The following grades are awarded to Sri/Smt MEERA CHANDRAN J R at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: PP21BSDL042

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE2B03COM Co-operation-I	8	1.43	D	11.44	Р
Optional II SDE3B07COM Co-operation-II	8	1.57	С	12.56	Р
Total	16			24	
CGPA(Cumulative Grade Point	Average)		С	1.5	

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E:0.00-0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent \\ \textbf{Grade Range for CGPA:-}C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt RIBIN RAJU M at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: PP21BSDL043

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result				
Additional Optional Papers									
Optional I SDE2B03COM Co-operation-I	8	3.73	А	29.84	Р				
Optional II SDE3B07COM Co-operation-II	8	2.2	С	17.6	Р				
Total	16			47.44					
CGPA(Cumulative Grade Point	Average)		В	2.97					

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

P= Passed F= Failed

The following grades are awarded to Sri/Smt **SAYANA G** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: PP21BSDL044

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE2B03COM Co-operation-I	8	2.03	С	16.24	Р
Optional II SDE3B07COM Co-operation-II	8	2.27	С	18.16	Р
Total	16			34.4	
CGPA(Cumulative Grade Point	Average)		C+	2.15	

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt VYSHNAVI K P at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: PP21BSDL045

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE2B03COM Co-operation-I	8	3.17	В	25.36	Р
Optional II SDE3B07COM Co-operation-II	8	3.6	А	28.8	Р
Total	16			54.16	
CGPA(Cumulative Grade Point	Average)		B+	3.39	

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt LIJEESH M at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: PP19BSDL015

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result			
Additional Optional Papers								
Optional I SDE2B03COM Co-operation-I	8	0.67	D	5.36	Р			
Optional II SDE3B07COM Co-operation-II	8	1.1	D	8.8	Р			
Total	16			14.16				
CGPA(Cumulative Grade Point	Average)		D	0.89				

 $\begin{array}{l} \textbf{Grade Range for Paper:-E:} 0.00 - 0.49: \ D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent \\ \textbf{Grade Range for CGPA:-C:} 1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

P= Passed F= Failed

The following grades are awarded to Sri/Smt JOSEPH THOMAS at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: PP13BS0395

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE2B03COM Co-operation-I	8	1.07	D	8.56	Р
Optional II SDE3B07COM Co-operation-II	8	Х	-	-	F
Total	16			8.56	
CGPA(Cumulative Grade Point	Average)		D	0.54	

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

P= Passed F= Failed

The following grades are awarded to Sri/Smt ALEESHA TOM at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: **SS21BSDL001** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE2B03COM Co-operation-I	8	2.37	С	18.96	Р
Optional II SDE3B07COM Co-operation-II	8	2.5	В	20	Р
Total	16			38.96	
CGPA(Cumulative Grade Point	Average)		C+	2.44	

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 **Pass Conditions**: Minimum D grade for a paper and minimum CGPA of **1.50 (C Grade)** 

D. Desert E. Called

**P=** Passed **F=** Failed

### **GRADE CARD**

The following grades are awarded to Sri/Smt ANJALI A at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: \$\$21B\$DL002

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result			
Additional Optional Papers								
Optional I SDE2B03COM Co-operation-I	8	1.6	С	12.8	Р			
Optional II SDE3B07COM Co-operation-II	8	1.73	С	13.84	Р			
Total	16			26.64				
CGPA(Cumulative Grade Point	Average)		С	1.67				

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

P= Passed F= Failed

The following grades are awarded to Sri/Smt ANUSREE A at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: **\$\$21B\$DL003** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result			
Additional Optional Papers								
Optional I SDE2B03COM Co-operation-I	8	1.4	D	11.2	Р			
Optional II SDE3B07COM Co-operation-II	8	0.83	D	6.64	Р			
Total	16			17.84				
CGPA(Cumulative Grade Point	Average)		D	1.12				

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E: 0.00 - 0.49: \ D: 0.50-1.49: C: 1.50-2.49: B: 2.50-3.49: A: 3.50-4.00: X: Absent \\ \textbf{Grade Range for CGPA:-} C: 1.50-1.99: C+: 2.00-2.49: B: 2.50-2.99: B+: 3.00-3.49: A: 3.50-3.79: A+: 3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt ARPITHA K at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: \$\forall S21BSDL004

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result			
Additional Optional Papers								
Optional I SDE2B03COM Co-operation-I	8	1.6	С	12.8	Р			
Optional II SDE3B07COM Co-operation-II	8	1.4	D	11.2	Р			
Total	16			24				
CGPA(Cumulative Grade Point	Average)		С	1.5				

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

P= Passed F= Failed

The following grades are awarded to Sri/Smt **ASWANI** K at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: \$\$21B\$DL005

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result				
Additional Optional Papers									
Optional I SDE2B03COM Co-operation-I	8	1.63	С	13.04	Р				
Optional II SDE3B07COM Co-operation-II	8	1.8	С	14.4	Р				
Total	16			27.44					
CGPA(Cumulative Grade Point	Average)		С	1.72					

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

P= Passed F= Failed

The following grades are awarded to Sri/Smt ATHULYA MARIYA THOMAS at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: **SS21BSDL006** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result			
Additional Optional Papers	Additional Optional Papers							
Optional I SDE2B03COM Co-operation-I	8	1.17	D	9.36	Р			
Optional II SDE3B07COM Co-operation-II	8	1.27	D	10.16	Р			
Total	16			19.52				
CGPA(Cumulative Grade Point	Average)		D	1.22				

 $\label{eq:Grade Range for Paper:-E:0.00-0.49:D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent \\ \textbf{Grade Range for CGPA}:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 \\ \textbf{Grade Range for CGPA}:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.5$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt AYANA TOM at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: \$\$21B\$DL007

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result				
Additional Optional Papers									
Optional I SDE2B03COM Co-operation-I	8	2	С	16	Р				
Optional II SDE3B07COM Co-operation-II	8	2.77	В	22.16	Р				
Total	16			38.16					
CGPA(Cumulative Grade Point	CGPA(Cumulative Grade Point Average)			2.39					

 $\begin{array}{l} \textbf{Grade Range for Paper:-E:} 0.00 - 0.49: \ D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent \\ \textbf{Grade Range for CGPA:-C:} 1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

P= Passed F= Failed

The following grades are awarded to Sri/Smt **DEEPTHI C V** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: \$\$21B\$DL008

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result				
Additional Optional Papers									
Optional I SDE2B03COM Co-operation-I	8	2.57	В	20.56	Р				
Optional II SDE3B07COM Co-operation-II	8	3.33	В	26.64	Р				
Total	16			47.2					
CGPA(Cumulative Grade Point	Average)		В	2.95					

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

P= Passed F= Failed

The following grades are awarded to Sri/Smt **DHANYA M** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: \$\$21B\$LD009

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE2B03COM Co-operation-I	8	0.7	D	5.6	Р
Optional II SDE3B07COM Co-operation-II	8	0.23	E	1.84	F
Total	16			7.44	
CGPA(Cumulative Grade Point	Average)		-	0.47	

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent Grade Range for CGPA:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt LAVANYA K V at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: \$\$21B\$DL010

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE2B03COM Co-operation-I	8	Х	-	-	F
Optional II SDE3B07COM Co-operation-II	8	Х	-	-	F
Total	16			-	
CGPA(Cumulative Grade Point	Average)		-	-	

 $\label{eq:Grade Range for Paper:-E:0.00-0.49:D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent \\ \textbf{Grade Range for CGPA}:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 \\ \textbf{Grade Range for CGPA}:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.5$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt LICIN ELIZABATH MATHEW at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: **SS21BSDL011** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result			
Additional Optional Papers								
Optional I SDE2B03COM Co-operation-I	8	1.5	С	12	Р			
Optional II SDE3B07COM Co-operation-II	8	1.63	С	13.04	Р			
Total	16			25.04				
CGPA(Cumulative Grade Point	Average)		С	1.57				

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E: 0.00 - 0.49: \ D: 0.50-1.49: C: 1.50-2.49: B: 2.50-3.49: A: 3.50-4.00: X: Absent \\ \textbf{Grade Range for CGPA:-} C: 1.50-1.99: C+: 2.00-2.49: B: 2.50-2.99: B+: 3.00-3.49: A: 3.50-3.79: A+: 3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

### **GRADE CARD**

The following grades are awarded to Sri/Smt LIJINA C at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: **SS21BSDL012** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result		
Additional Optional Papers							
Optional I SDE2B03COM Co-operation-I	8	2.67	В	21.36	Р		
Optional II SDE3B07COM Co-operation-II	8	2.73	В	21.84	Р		
Total	16			43.2			
CGPA(Cumulative Grade Point	Average)		В	2.7			

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

### **GRADE CARD**

The following grades are awarded to Sri/Smt MAMATHA P P at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: **SS21BSDL013** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result			
Additional Optional Papers								
Optional I SDE2B03COM Co-operation-I	8	2.83	В	22.64	Р			
Optional II SDE3B07COM Co-operation-II	8	2.7	В	21.6	Р			
Total	16			44.24				
CGPA(Cumulative Grade Point	Average)		В	2.77				

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

### **GRADE CARD**

The following grades are awarded to Sri/Smt NIMISHA M V at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: \$\forall S21BSDL014

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result			
Additional Optional Papers								
Optional I SDE2B03COM Co-operation-I	8	2.5	В	20	Р			
Optional II SDE3B07COM Co-operation-II	8	2.3	С	18.4	Р			
Total	16			38.4				
CGPA(Cumulative Grade Point	Average)		C+	2.4				

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

P= Passed F= Failed

The following grades are awarded to Sri/Smt PRAJISHA K V at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: \$\$21B\$DL015

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE2B03COM Co-operation-I	8	1.07	D	8.56	Р
Optional II SDE3B07COM Co-operation-II	8	0.7	D	5.6	Р
Total	16			14.16	
CGPA(Cumulative Grade Point	Average)		D	0.89	

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E: 0.00 - 0.49: \ D: 0.50-1.49: C: 1.50-2.49: B: 2.50-3.49: A: 3.50-4.00: X: Absent \\ \textbf{Grade Range for CGPA:-} C: 1.50-1.99: C+: 2.00-2.49: B: 2.50-2.99: B+: 3.00-3.49: A: 3.50-3.79: A+: 3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt SOORYA RAJAN at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: \$\$21B\$DL017

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE2B03COM Co-operation-I	8	1.5	С	12	Р
Optional II SDE3B07COM Co-operation-II	8	1.97	С	15.76	Р
Total	16			27.76	
CGPA(Cumulative Grade Point	Average)		С	1.74	

Grade Range for Paper:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent Grade Range for CGPA:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt **SREENA C V E** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: \$\$21B\$DL018

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result			
Additional Optional Papers								
Optional I SDE2B03COM Co-operation-I	8	2.23	С	17.84	Р			
Optional II SDE3B07COM Co-operation-II	8	2.53	В	20.24	Р			
Total	16			38.08				
CGPA(Cumulative Grade Point	Average)		C+	2.38				

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

P= Passed F= Failed

The following grades are awarded to Sri/Smt AKASH P at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: **\$\$21B\$DL019** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE2B03COM Co-operation-I	8	1.7	С	13.6	Р
Optional II SDE3B07COM Co-operation-II	8	1.33	D	10.64	Р
Total	16			24.24	
CGPA(Cumulative Grade Point	Average)		С	1.52	

 $\label{eq:Grade Range for Paper:-E:0.00-0.49:D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent \\ \textbf{Grade Range for CGPA}:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 \\ \textbf{Grade Range for CGPA}:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.5$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt AMALRAJ M P at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: \$\$21B\$DL020

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE2B03COM Co-operation-I	8	1.2	D	9.6	Р
Optional II SDE3B07COM Co-operation-II	8	1.8	С	14.4	Р
Total	16			24	
CGPA(Cumulative Grade Point	Average)		С	1.5	

 $\begin{array}{l} \textbf{Grade Range for Paper:-E:} 0.00 - 0.49: \ D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent \\ \textbf{Grade Range for CGPA:-C:} 1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

P= Passed F= Failed

The following grades are awarded to Sri/Smt EBY JOSE at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: **\$\$21B\$DL021** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result	
Additional Optional Papers						
Optional I SDE2B03COM Co-operation-I	8	Х	-	-	F	
Optional II SDE3B07COM Co-operation-II	8	0.6	D	4.8	Р	
Total	16			4.8		
CGPA(Cumulative Grade Point	Average)		-	0.3		

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt JUSTIN M T at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: **SS21BSDL022** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE2B03COM Co-operation-I	8	2.27	С	18.16	Р
Optional II SDE3B07COM Co-operation-II	8	2.3	С	18.4	Р
Total	16			36.56	
CGPA(Cumulative Grade Point	Average)		C+	2.29	

Grade Range for Paper:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent Grade Range for CGPA:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt PRANAV M P at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: **SS21BSDL023** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result		
Additional Optional Papers							
Optional I SDE2B03COM Co-operation-I	8	1.83	С	14.64	Р		
Optional II SDE3B07COM Co-operation-II	8	1.37	D	10.96	Р		
Total	16			25.6			
CGPA(Cumulative Grade Point	Average)		С	1.6			

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt **PRATHEESH V VARGHESE** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: **SS21BSDL024** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE2B03COM Co-operation-I	8	1.83	С	14.64	Р
Optional II SDE3B07COM Co-operation-II	8	1.33	D	10.64	Р
Total	16			25.28	
CGPA(Cumulative Grade Point	Average)		С	1.58	

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt SREEKUMAR T at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: **SS21BSDL025** 

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result		
Additional Optional Papers							
Optional I SDE2B03COM Co-operation-I	8	1.87	С	14.96	Р		
Optional II SDE3B07COM Co-operation-II	8	1.9	С	15.2	Р		
Total	16			30.16			
CGPA(Cumulative Grade Point	Average)		С	1.89			

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt AMRUTHA M at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: PR21BSDL001

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE2B03COM Co-operation-I	8	1.7	С	13.6	Р
Optional II SDE3B07COM Co-operation-II	8	1.7	С	13.6	Р
Total	16			27.2	
CGPA(Cumulative Grade Point	Average)		С	1.7	

 $\begin{array}{l} \textbf{Grade Range for Paper:-E:} 0.00 - 0.49: \ D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent \\ \textbf{Grade Range for CGPA:-C:} 1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

P= Passed F= Failed

The following grades are awarded to Sri/Smt ANJITHA K at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: PR21BSDL002

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE2B03COM Co-operation-I	8	Х	-	-	F
Optional II SDE3B07COM Co-operation-II	8	X	-	-	F
Total	16			-	
CGPA(Cumulative Grade Point	Average)		-	-	

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt ARATHI T R at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: PR21BSDL003

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE2B03COM Co-operation-I	8	1.8	С	14.4	Р
Optional II SDE3B07COM Co-operation-II	8	2.5	В	20	Р
Total	16			34.4	
CGPA(Cumulative Grade Point	Average)		C+	2.15	

 $\begin{array}{l} \textbf{Grade Range for Paper:-E:} 0.00 - 0.49: \ D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent \\ \textbf{Grade Range for CGPA:-C:} 1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

P= Passed F= Failed

The following grades are awarded to Sri/Smt **ASWATHI** K V at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: PR21BSDL004

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE2B03COM Co-operation-I	8	2.83	В	22.64	Р
Optional II SDE3B07COM Co-operation-II	8	3.57	А	28.56	Р
Total	16			51.2	
CGPA(Cumulative Grade Point	Average)		B+	3.2	

 $\begin{array}{l} \textbf{Grade Range for Paper:-E:} 0.00 - 0.49: \ D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent \\ \textbf{Grade Range for CGPA:-C:} 1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

P= Passed F= Failed

The following grades are awarded to Sri/Smt ATHIRA K at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: PR21BSDL005

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE2B03COM Co-operation-I	8	2.03	С	16.24	Р
Optional II SDE3B07COM Co-operation-II	8	2.93	В	23.44	Р
Total	16			39.68	
CGPA(Cumulative Grade Point	Average)		C+	2.48	

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E: 0.00 - 0.49: \ D: 0.50-1.49: C: 1.50-2.49: B: 2.50-3.49: A: 3.50-4.00: X: Absent \\ \textbf{Grade Range for CGPA:-} C: 1.50-1.99: C+: 2.00-2.49: B: 2.50-2.99: B+: 3.00-3.49: A: 3.50-3.79: A+: 3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt ATHIRA P V at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: PR21BSDL006

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result		
Additional Optional Papers							
Optional I SDE2B03COM Co-operation-I	8	1.6	С	12.8	Р		
Optional II SDE3B07COM Co-operation-II	8	2.5	В	20	Р		
Total	16			32.8			
CGPA(Cumulative Grade Point	Average)		C+	2.05			

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt ATHIRA T R at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: PR21BSDL007

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE2B03COM Co-operation-I	8	2.33	С	18.64	Р
Optional II SDE3B07COM Co-operation-II	8	2.23	С	17.84	Р
Total	16			36.48	
CGPA(Cumulative Grade Point	CGPA(Cumulative Grade Point Average)			2.28	

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E: 0.00 - 0.49: \ D: 0.50-1.49: C: 1.50-2.49: B: 2.50-3.49: A: 3.50-4.00: X: Absent \\ \textbf{Grade Range for CGPA:-} C: 1.50-1.99: C+: 2.00-2.49: B: 2.50-2.99: B+: 3.00-3.49: A: 3.50-3.79: A+: 3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt BINYA K K at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: PR21BSDL008

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE2B03COM Co-operation-I	8	2.17	С	17.36	Р
Optional II SDE3B07COM Co-operation-II	8	2.13	С	17.04	Р
Total	16			34.4	
CGPA(Cumulative Grade Point	Average)		C+	2.15	

 $\begin{array}{l} \textbf{Grade Range for Paper:-E:} 0.00 - 0.49: \ D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent \\ \textbf{Grade Range for CGPA:-C:} 1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

P= Passed F= Failed

The following grades are awarded to Sri/Smt **DEVIKA P B** at the **B.Com. Degree Examination (Additional Optional) March 2022.** 

Register Number: PR21BSLD009

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE2B03COM Co-operation-I	8	0.7	D	5.6	Р
Optional II SDE3B07COM Co-operation-II	8	0.4	E	3.2	F
Total	16			8.8	
CGPA(Cumulative Grade Point	Average)		D	0.55	

 $\begin{array}{l} \textbf{Grade Range for Paper:-E:} 0.00 - 0.49: \ D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent \\ \textbf{Grade Range for CGPA:-C:} 1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

P= Passed F= Failed

The following grades are awarded to Sri/Smt KAVYA C at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: PR21BSDL010

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE2B03COM Co-operation-I	8	2	С	16	Р
Optional II SDE3B07COM Co-operation-II	8	1.7	С	13.6	Р
Total	16			29.6	
CGPA(Cumulative Grade Point	Average)		С	1.85	

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

P= Passed F= Failed

25/08/2022

## **GRADE CARD**

The following grades are awarded to Sri/Smt SANVA P at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: PR21BSDL011

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE2B03COM Co-operation-I	8	2.33	С	18.64	Р
Optional II SDE3B07COM Co-operation-II	8	2.27	С	18.16	Р
Total	16			36.8	
CGPA(Cumulative Grade Point	CGPA(Cumulative Grade Point Average)			2.3	

 $\begin{array}{l} \textbf{Grade Range for Paper:-E:} 0.00 - 0.49: \ D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent \\ \textbf{Grade Range for CGPA:-C:} 1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

P= Passed F= Failed

The following grades are awarded to Sri/Smt SHIMNA P at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: PR21BSDL012

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE2B03COM Co-operation-I	8	1.87	С	14.96	Р
Optional II SDE3B07COM Co-operation-II	8	2.27	С	18.16	Р
Total	16			33.12	
CGPA(Cumulative Grade Point	Average)		C+	2.07	

 $\begin{array}{l} \textbf{Grade Range for Paper:-E:} 0.00 - 0.49: \ D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent \\ \textbf{Grade Range for CGPA:-C:} 1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

P= Passed F= Failed

The following grades are awarded to Sri/Smt SREYA M V at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: PR21BSDL013

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result
Additional Optional Papers					
Optional I SDE2B03COM Co-operation-I	8	2.3	С	18.4	Р
Optional II SDE3B07COM Co-operation-II	8	1.77	С	14.16	Р
Total	16			32.56	
CGPA(Cumulative Grade Point	Average)		C+	2.04	

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E: 0.00 - 0.49: \ D: 0.50-1.49: C: 1.50-2.49: B: 2.50-3.49: A: 3.50-4.00: X: Absent \\ \textbf{Grade Range for CGPA:-} C: 1.50-1.99: C+: 2.00-2.49: B: 2.50-2.99: B+: 3.00-3.49: A: 3.50-3.79: A+: 3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt AMAL RAM K at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: PR21BSDL014

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result	
Additional Optional Papers						
Optional I SDE2B03COM Co-operation-I	8	1.4	D	11.2	Р	
Optional II SDE3B07COM Co-operation-II	8	1.6	С	12.8	Р	
Total	16			24		
CGPA(Cumulative Grade Point Average)			С	1.5		

**Grade Range for Paper**:-E:0.00 – 0.49: D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent **Grade Range for CGPA**:-C:1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed

The following grades are awarded to Sri/Smt RAMIL P V at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: PR21BSDL015

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result	
Additional Optional Papers						
Optional I SDE2B03COM Co-operation-I	8	1.5	С	12	Р	
Optional II SDE3B07COM Co-operation-II	8	2.63	В	21.04	Р	
Total	16			33.04		
CGPA(Cumulative Grade Point Average)			C+	2.07		

 $\begin{array}{l} \textbf{Grade Range for Paper:-E:} 0.00 - 0.49: \ D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent \\ \textbf{Grade Range for CGPA:-C:} 1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

P= Passed F= Failed

The following grades are awarded to Sri/Smt REMIL KM at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: PR21BSDL016

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result	
Additional Optional Papers						
Optional I SDE2B03COM Co-operation-I	8	2.57	В	20.56	Р	
Optional II SDE3B07COM Co-operation-II	8	2.9	В	23.2	Р	
Total	16			43.76		
CGPA(Cumulative Grade Point Average)			В	2.74		

 $\begin{array}{l} \textbf{Grade Range for Paper:-E:} 0.00 - 0.49: \ D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent \\ \textbf{Grade Range for CGPA:-C:} 1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

P= Passed F= Failed

# 25/08/2022

# **GRADE CARD**

The following grades are awarded to Sri/Smt SRAVAN T at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: PR21BSDL017

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result	
Additional Optional Papers						
Optional I SDE2B03COM Co-operation-I	8	1.93	С	15.44	Р	
Optional II SDE3B07COM Co-operation-II	8	2.6	В	20.8	Р	
Total	16			36.24		
CGPA(Cumulative Grade Point Average)			C+	2.27		

 $\begin{array}{l} \textbf{Grade Range for Paper:-E:} 0.00 - 0.49: \ D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent \\ \textbf{Grade Range for CGPA:-C:} 1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

P= Passed F= Failed

The following grades are awarded to Sri/Smt JITHIN V P at the B.Com. Degree Examination (Additional Optional) March 2022.

Register Number: PR19BSDL001

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result	
Additional Optional Papers						
Optional I SDE2B03COM Co-operation-I	8	0.83	D	6.64	Р	
Optional II SDE3B07COM Co-operation-II	8	0.87	D	6.96	Р	
Total	16			13.6		
CGPA(Cumulative Grade Point Average)			D	0.85		

 $\begin{array}{l} \textbf{Grade Range for Paper:-E:} 0.00 - 0.49: \ D:0.50-1.49:C:1.50-2.49:B:2.50-3.49:A:3.50-4.00:X:Absent \\ \textbf{Grade Range for CGPA:-C:} 1.50-1.99:C+:2.00-2.49:B:2.50-2.99:B+:3.00-3.49:A:3.50-3.79:A+:3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

P= Passed F= Failed

25/08/2022

## **GRADE CARD**

The following grades are awarded to Sri/Smt at the **B.Com. Degree Examination** (Additional Optional) March 2022.

# Register Number:

Course Code & Title	Credit	Grade Point Awarded	Grade Awarded	Credit Point	Result	
Additional Optional Papers						
Optional I SDE2B03COM Co-operation-I	8					
Optional II SDE3B07COM Co-operation-II	8					
Total	16					
CGPA(Cumulative Grade Point Average)						

 $\begin{array}{l} \textbf{Grade Range for Paper:-} E: 0.00 - 0.49: D: 0.50-1.49: C: 1.50-2.49: B: 2.50-3.49: A: 3.50-4.00: X: Absent \\ \textbf{Grade Range for CGPA:-} C: 1.50-1.99: C+: 2.00-2.49: B: 2.50-2.99: B+: 3.00-3.49: A: 3.50-3.79: A+: 3.80-4.00 \\ \end{array}$ 

Pass Conditions: Minimum D grade for a paper and minimum CGPA of 1.50 (C Grade)

**P=** Passed **F=** Failed